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PART - 1 : PHYSICS

1.

When a ball is thrown up vertically with velocity
Vo, it reaches a maximum height of h. If one wishes
to triple the maximum height, then the ball should
be thrown with velocity: -

(1) \3v, 2) 3v,
(3) ov, @ 2V,

The graph shows the variation of velocity of a
rocket with time. Then, the maximum height
attained by the rocket is :-

vims

1000 f==+===r=n==

0 10 110

(1) 1.1 km (2) 5 km

(3) 55km (4) None of these

A pendulum is suspended from the ceiling of a
train. When the train is moving with acceleration 'a’
the pendulum is inclined at an angle of 30 with
vertical, then value of a is :-

1 V3 0 &8
()\/—g ()\/§

29 g9
3) <9 4) 2
()J§ ()2

A lorry and a car moving with same kinetic energy
are brought to rest by applying the same retarding
force then :

(1) Lorry will come to rest in a shorter distance
(2) Car will come to rest in a shorter distance
(3) Both will come to rest in the same distance
(4) Data given here is insufficient to decide

A force F=6i+2j+3kacts on a particle and

produces a displacement S=2i —3j-xk . If the work
done is zero, the value of x is :-

1
(2 @ 3
(3)6 4)3

1.

Sq UH UG B AT v, @ A1 dddq 99 H HWR
Bl ST 8, I8 h B ST Harg ddb ygadr
2| I D13 MAHTH Hars B fTAT BAT A8
g, a1 g BT I F BT aAfey—

(1) V3V, @) 3v,
(3) ov, @ 2v,

U I B A1 Jbe & T & GRIAT bl 2Tl
2, d@I dbe gRT U AfIbad Hars o—

v/ms

1000

0 10 110

(1) 1.1 km (2) 5 km
(3) 55 km (4) STH ¥ P T8I

U Ugerd ®l ¢ &I Bd 3 Mafda ax faar smar
2| € T TR 'a' B AT IA & 8, a5 Alerd
BT DT BIVT 30 HeAleR & A1 ©, Al a BT A
RIT 57

1) 3 2 9
(1) 39 @ %

29 9
() 22 * 3

UHh ANl IR U ®R A Ifael SHoll & aref
Tl 8, R T Hed 9ef T Thx fav # arim
ST ©,

(1) @RI BH G TR 3MHR wd I

(2) PR HH T TR 3MMHL. HHI

(3) T FAM X W ARMERRT # M

(4) TET & T TGN GF B S Ty oI &
Th 91 F=6i+2]+3k T® BT IR HRRT 8 3R TH
faReIToe $=2i-3j—xk ST~ HRar g Jfe favar T
BRI I 7, Al x BT A T 87

1
(1)2 2 3
(3)6 4)3
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Match the terms of Column I with the items of

Column II and choose the correct option from the

codes given below.

Column-I Column-II

(A) Diamagnetic (p) p >>lo,lr >> 1 & ¢ >>1

(B) Paramagnetic (q) -1<% <0,0<p, <1 &<},

(C)Ferromagnetic (r) O<y <egl<p, <l+eg
&p>p,

(1 (A) = (@).(B) > (n.(C) = (p)

2) (A) = (p).(B) > (a).(C) > ()

3) (A) > [).(B) > (p).(C) > (1)

@ (A)—(p).(B) > (n.(C) = (a)

Core of electromagnets are made of ferromagnetic

materials which have

(1) low permeability and low retentivity

(2) high permeability and high retentivity

(3) high permeability and low retentivity

(4) low permeability and high retentivity.

A rectangular loop with a sliding connector of

length {=1.0mis situated in a uniform magnetic

field B=2T perpendicular to the plane of the loop.

Resistance of connector is I'=20). Two resistances

of 602 and 3Qare connected as shown in figure.

The external force required to keep the connector
moving with a constant velocity Vv =2ms™ is

®B
6 s;g + > §3 Q
(1) 2N @) IN
(3) 4N (4) 6N

For an electromagnetic wave, which of the

following statement is true?

(1) Electric field is constant and magnetic field
varies.

(2) Magnetic field is constant and electric field
varies.

(3) Both electric and magnetic fields are constant.

(4) Both electric and magnetic fields vary.

DI 1 QI BT dicH [ Y&l & Al gHfed
B R 9 QU Y Pls | FEl fdbey g

(A) UFIGHBIT (p) p>>po,pus>> 1 & o >>1

(B) g (q)-1<y<0,0<p, <1 &p<},
(C) ArRgH® (r) 0<y<gl<p <l+e

&p>p,

(1) (A) = (a),(B) > (). (C) > (p)
2) (A) > (p).(B) > (9).(C) > (1)
3) (A) = (n.(B) = (p).(C) = (@)
(4) (A) = (p).(B) > (). (C) > (a)

g grral &1 R dlegadid yareil | g1 s
g R

(1) HH URITHIAT 3R &H gRoreferdr

(2) ST YRATRIGT 3R 8Td ROt fTerd

(3) STd URITAT 3R HH ROTeIdr

(4) BH YR 3R Sod ERoTeierd

(=1.0m T8 & TARFRET Hdex b AR Th
MR U Uh |AM gadrg &3 ¥ Reyd @
B=2T<Uu & Tl & cigdd | dIdex &l UfeRg
r=2Q &z, °r gtk 6Q &k 3Q form # fiwam
T JFAR G$ 8U 8| ddexk bl ReRr d
v=§m31®Wwﬁ$WWW
97 3

®B
6 s;g SNy §3 Q
(1) 2N (2) IN
(3) 4N (4) 6N

e g a1 & forg, FrafalRad & 9 @9

1 p I 87

(1) fa=ga &3 ReRr 7 IR gai &= uRafd gram
=

(2) geara a5 Rer 7 3R fag@ &5 uRafi grar
2 |

(3) fagla &R gaora &= aMi ReR B |
(4) gl &R g &= qMi gRafd 8 2 |

Space for rough work
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10.

11.

12.

13.

14.

15.

The figure shows variation of R,X, and X. with

frequency f in a series LCR circuit. Then for what
frequency point, the circuit is inductive?

X. X,
P o— R
AT C f
(HA (2)B
3)C (4) All points

Dimensions of which of the following pairs are not
same

(1) Work and moment of force

(2) Pressure and elastic constant

(3) Power and angular momentum

(4) Light year and wavelength

Correct rounding OFF for the number 14.1263 upto
4 significant figures is

(1) 14.12 (2) 14.22

(3) 14.13 (4) None of these

A particle rests on the top of a hemisphere of radius
R. Find the smallest horizontal velocity that must
be impaired to the particle if it is to leave the
hemisphere without sliding down it :-

(1) IR 2) 2R
(3) V3R (4) \B9R

A shell explodes and many pieces fly off in
different directions. Which of the following is
conserved?

(1) Kinetic energy

(2) Momentum

(3) Neither momentum nor KE

(4) Momentum and KE

A wheel of moment of inertia 2.0x10°kgm?is

rotating at uniform angular speed of 4rads™. What
is torque required to stop it in one second :

(1) 05x10°Nm  (2) 8.0x10°Nm
(3) 2.0x10°Nm (4) None of these

10.

11.

12.

13.

14.

15.

g ATBST R, X, AR X, DI A= BT U el
LCR dfe # maRy & e, goiar 2| ar fas
gy fig @ forg, wfdbe IRem 27

X, X,

R

~——

AB C
(HA 2) B
3)C (4) wir fdg

fforRad # & f5a g & famm 999 =12 22
(1) B 3R I3 TELDT

(2) a4 iR gyRen fFadais

(3) wIfdd 3R BIvi HaT

(4) UBI a9 3R aRaaed

HT 14.1263 ¥ 4 F1fd 3! adh HT el QUlide
7 87

(1) 14.12 (2) 14.22

(3) 14.13 (4) 3 A B &

T HYl (35T R Uh Tilcllg @ oY WR feal g3
2| W99 BIel 8fd 97 S &R, Sl H7 & forg
BT A1fey, Ife S e Resgamrd {37 et sre

%—
) 2R

(1) JoR
(3) \3OR 4) \59R

U el HE Sl & AR s ghs ST —3TelT
feemeti # se wia &) frEfaRed § | fe|aer
TReTOT AT ST 272

(1) 7St St

(2) QT

(3) 9 @ T 3R 7 & KE

(4) |dT 3R KE

Sed AU 2.0x10°kgm? P URAT THAAT
BN T 4rads™ & goH IR T 2| T D
JAdhs H Adw & oy rawads ot el Far 87
(1) 0.5x10°Nm  (2) 8.0x10°Nm

(3) 20x10°Nm  (4) 379 9 Pl &I

Space for rough work
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16.

17.

18.

19.

20.

From a circular disc of radius R and mass 9 M a
small disc of radius % is removed from the disc as

shown in figure. The moment of inertia of the
remaining disc about an axis perpendicular to the
plane of the disc and passing through O is :

(1) 4MR?

() %OMRZ

(3) 10MR? 4) 3—97|\/|R2

Statement-A : Lenz law is a consequence of law
of conservation of energy.

Statement-B : Induced electric field is non
conservative in nature

(1) Both A and B are false

(2) Both A and B are true

(3) A is true and B is false

(4) A'is false and B is true

A simple microscope has focal length of 5 cm . The
magnification for the case when final image at least
distance of distinct vision is :

(M1 2)4

35 (46

Parallel rays of light from sun falls on a biconvex
lens of focal length ' f' and the circular image of
radius 'r' is formed on the focal plane of the lens
then which of the following is correct?

(1) Area of image nr’directly proportional to f
(2) Area of image ar’directly proportional to f?
(3) Intensity of image increases if f'is increased

(4) None of these
In nuclear fission which is conserved: -

(1) Energy of system

(2) Mass of system

(3) Momentum of system

(4) Energy and mass both together

16.

17.

18.

19.

20.

a1 R 3R g9 9 M &1 Udh JardR f$%b o
%G&T%aﬁwgﬁ—a%waﬁwﬁmw%

ST e o § e w2 v & dd @
dgaq R O Yol dlel 318 & URa: U &b
H ST IO RIT &7

...........

(1) 4MR? ) %OMRZ

(3) 10MR*? 4) %MRZ

PUF-A : o fH, ol WRevr & e @
TR & |

$F-B : URT fagd &3 upfa # el 2

(1) AR Bl 3R &

(2) ASIR BN 9 &

(3) AV & IR BINH B |

(4) AT g IRB AT &

Uh RS geAest B BIed g 5 cm. B | =gATH
N W yfAfdrg & forg anaes ear gRfi—

()1 (2) 4

(3)5 4)6

I ¥ UBRT B GG B0 B & ' D

gt o W Usdl € SR B v @l qRIeR

Bd o & BIdhd dal W 9l g, ar fFr=falaa

H W B AT el 2?

(1) Bld 31 &3 wrf & A T

(2) Ufafdwr &7 &=thel or’ e ATl f 2

(3) Ife fgerm Sy a1 ufafde & eadr 9 I
g

(4) T & DY &

AT faEes | S WRiga 2
(1) @™ o1 ot

(2) P BT TIHM

(3) @™ BT FaT

(4) SolT IR GIAM QFI U A1

Space for rough work
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21.

22,

23.

24.

25.

26.

The Binding energy per nucleon of 7 Li and }He
nuclei are 5.60 MeV and 7.06 MeV, respectively. In
the nuclear reaction ’Li+ H—2jHe+Q, the
value of energy Q released is :-

(1) 19.6 MeV (2) -2.4 MeV

(3) 8.4 MeV (4) 17.3 MeV

The cathode of a photoelectric cell is changed such
that the work function changes from W, to

W, ( W, > Wl). If the current before and after
change are | and 1, , all other conditions remaining
unchanged, then (assuming hv>W, )

(=1, 2)1<l,

3>l @L<, <2l

Diffusion current in a p-n junction is greater than
the drift current in magnitude:-

(1) if the junction is forward-biased

(2) if the junction is reverse-biased

(3) if the junction is unbiased

(4) in no case

"Heat cannot flow by itself from a body at lower

temperature to a body at higher temperature" is a
statement or consequence of :

(1) Second law of thermodynamics

(2) Conservation of momentum

(3) Conservation of mass

(4) First law of thermodynamics

The displacement of a particle in S.H.M. is
indicated by equation y =10sin(20t + rt/ 3) where y
is in metres. The value of time period of vibration
will be (in seconds) :

(H10/n (2) ©/10

(3) 2n/10 4)10/2n

The number of possible natural oscillations of air

column in a pipe closed at one end of length 85 cm
whose frequencies lie below 1250 Hz are (velocity

of sound =340ms™) :-
(17 2)6
(3)4 45

21.

22.

23.

24.

2 5%

26.

TLi 3R ‘He WS & fory ufd =yfaerd= ded
Sl HAE 5.60 MeV 3IR 7.06 MeV 2| =AY
IR H 7Li+iH > 2 He +Q, SR Hull Q &I
A B

(1) 19.6 MeV (2) -2.4 MeV

(3) 8.4 MeV (4) 17.3 MeV

UH BICIglded Jol & HAle B 39 UHR I&all

irelT & b ard et w, & W (W, > W, ) aRaffa
B ST © | Al gRTeaT | Ugdl 3R 918 # &RT |,
3R 1,9 w4 e smuRafda e € e (I
A U fh hv>W,)

(1)1, =1, @) 1, <l,

3) 1, >1, @) 1,<1, <2l

p-n G # fOROT g1 gRATT # QA ORT 9
Mfdes Biel 3—

(1) I S rfalRe e afid @

(2) afe Sige geaEfelRie safia @

(3) afe e fAwer &

(4) fosi 0 Rerfa #

“SET 7 T 1) B fUvs 9 Swa a9 wR fuvs
H U oMY Yarzd wel & ddhdl’ T B B
a1 gRomH 28—

(1) SHETIADHT BT AT g5

(2) AT BT ARET0T

(3) SATHT BT FRETUT

(4) SHFTAS] BT ggar |

S.HM. ¥ &b $Ul &7 favemus FHiaxvr gRT 3RTd
fopar STTaT 8y =10sin(20t + 7t/ 3) ST&T y Hlex # © |
AT ) AT AfT BT 7 (Hdhs ) s8HT—

(H 10/ (2) ©/10

(3) 2x/10 (4) 10/ 2n

85 cm ofdlg & Yo BR W § U5Y H I WA &
QI UTpfcies alerl &l &eer, e gkl
1250 Hz 9 &H &, (velocity of sound =340ms™)

(1)7
(3)4

(2)6
(4)5

Space for rough work
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27.

28.

29.

30.

If ratio of radii of planet-1 and planet-2 is 1: 2 and
ratio of their mean densities are 4: 1. Ratio of

escape velocities from planet-1 (Vpl) and planet
2(v,, ) will be :-

(H1:1 2)1:2

3)2:1 4)4:1

Figure shown an arrangement of three point

charges. The total potential energy of the system is
zero. The q/Q is:

2r
1
(2) >

2
3) 1

Assertion

1
@ -7

:- An electric dipole experiences

maximum force in a uniform electric field when it

is placed with its axis at right angles to the field
direction.

Reason :- When the axis of a dipole is

perpendicular to a uniform external electric field,

then torque acting on it will be zero.

(1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

(2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

(3) Assertion is True but the Reason is False.

(4) Both Assertion & Reason are False.

Resistance in the two gaps of a meter bridge are 10

ohms and 30 ohms respectively. If the resistances

are interchanged, the balance point shifts by :-

(1)33.3 cm (2) 66.67 cm

(3)25cm (4) 50 cm

27.

28.

29.

30.

e TB-1 3R U8-2 B FoTmell &7 U 1: 2 8
3R TP AEY T BT AU 4: 12| UB-1 9

TAT T 2 @WWWW(VM) e’ﬁ?(vpz)
Snn

(H1:1 (2)1:2
(3)2: 1 (4) 4: 1
for # 9 g onawt @ waven fRwE T 2
e o o Rufost ot I 21 ¢/Q 38—
- Q
q@ ......... ©-eeeee @q
< 37 »
4 1
(1) K.\ (2)5
2 1
3) o 4) —

P :- U fagd fagd o w9H fagd &= 4
SHAHTH ge1 BT 39T bRl © ofd 39 AU g
@ T e QR & FHSIOT W YW@ I ¢ |
PRY:- 514 U fggd DT &7 U o qred fdegd
83 & ogaq BT 8, dl 89 W HT HRA qrelt
JeATEl TR BRI |

(1) B IR SR Il I 8, 3R HRUT, HIA

BT L AT ® |

(2) U AR HRU T I 8, 3R BRI, HAT
@ e AT T8 & |

(3) AT T B A BRI A ¢ |

(4) I R BRI A € |

T HIeR Yol & &l 3fcRrell | UfRIe o 10 374

IR 30 31 B | afe ufcRren &1 ooy § qeer faam

SN Al Y fAg e gRT aRkafdd 81 rer 8-

(1)33.3 cm (2) 66.67 cm

(3) 25 cm (4) 50 cm

Space for rough work
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31.

32.

33.

34.

The value of mass m so that the system (a parallel

plate capacitor) will remain at equilibrium.
Area'A’

2
1) Z 2
(1) Zero ® s
ZA 62
) 4e, g @ 2g,0

A galvanometer of resistance 200 ohm gives full
scale deflection with 15 milli-ampere current. In
order to convert it into a 15 V range voltmeter, what
is the value of resistance connected in series?

(1) 1000Q (2) 800Q
(3) 25000 (4) 150002
A 30 kg body is pulled by a rope 4m long on a
frictionless horizontal surface by a force 96N. If
mass of the rope is 2 kg, force acting on the body
is:

30kg

| LF 06 N

(1) 96N (2) 94N
(3) 92N (4) 90N
The circuit shown below is a part of a bigger
circuit. If at any instant the current, 1 =5A, starts

decreasing at the rate of 10° A /s, the values of the
voltages across the resistance and across the
inductance will be

(1) V, =15V, V, =15V
(2) V; =7.5V,V, =75V
(3) V, =5V,V, =5V
(4) V, =0V,V, =0V

31.

32.

33.

34.

STAM m BT AF Al MR (Th AR ©ic
HeR=) Held TR 997 32 |

[ [ ]Area/\
+U —0

(1) =3 (2)

€9
2 A 2
? g @ 220

IfRIET 200 3MH &7 U Hed=riex 15 FAeli—grieR
eRT & ST QT 4 o) fagioer St 21 W 15V
W dlecdlcy § geod & fou, sf@en 9 s
UfcRIE &1 714 RIT 27

(1) 10000 (2) 8000

(3) 25000 (4) 15000

T 30 kg I I 4m el AT §RT THURTR &fdot
{8 WX 96N 9d §RT Wil Sl & | Al =AY &l
SH 2 kg, O 9K UR o dTell 9o T 57

30ke

| i»F 96 N

(1) 96N (2) 94N

(3) 92N (4) 90N

e feamar T uRuY Uk g uRuer & U f2wn
2 | Tfe foedt oY &1o1 § g1 i =5A, TUT 39 "
P X 10°A/s B, TR 3R IRPBd & IR dleco
P A BH—

A i B
._'}'-W\'-—'ii—)—’m'ﬂ'db.
10 5 mH

15V

(1) V, =15V,V, =15V
(2) V, =7.5V,V, =75V
(3) V; =5V,V_ =5V
(4) V, =0V,V, =0V

Space for rough work
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3s.

36.

37.

38.

An electromagnetic wave of frequency 3 GHz

enters a dielectric medium of relative electric

permittivity 2.25 (and p, =1) from vacuum. The

wavelength of this wave in that medium will be
x107cm.

(1) 667 (2) 897

(3) 450 (4) None of these

A virtual current of 4 A and 50 Hz flows in an AC

circuit containing a coil. The power consumed in

the coil is 240 W. If the virtual voltage across the

coil is 100 V its inductance will be :-

1 1
1) QH 2) QH

1 1

3) 7 H 4 on H

Statement I : In interference, all the fringes are of

same width.

Statement II : In interference, fringe width is

independent of the position of fringe.

(1) Statement-1is True, Statement-2 is True ;
Statement-2 is a correct explanation for
Statement-1.

(2) Statement-1 is True, Statement-2 is True ;
Statement-2 is not a correct explanation for
Statement-1.

(3) Statement-1 is True, Statement-2 is False.

(4) Statement-1 is False, Statement-2 is True.

Assertion (A)

resistance for semiconductor is negative.

Temperature coefficient of

Reason (R) : Conductivity of semiconductor

increases with increment in temperature.

(1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

(2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

(3) Assertion is True but the Reason is False.

(4) Both Assertion & Reason are False.

3s.

36.

37.

38.

3 GHz 3MgRT &1 U faga gy o=a e

fega IR 2.25 (3R p, =1) P AregH | fyaia

I YA BT | SH ARIH H 3 TR DI AT
x10?cm.

(1) 667

(3) 450

(2) 897
(4) 3 ¥ BI3 T2

4 A 3R 50 Hz @1 T MRAl &RT Ueh el dlel
AC uRuer § ya1fed &Il € | BSell § @Ud Al

240 W | If Feell WR MR dleedr 100 V &,
T 3BT WIIRBA T ITT?

1
(D %H

1
(2)§H
1 1
(3)ﬁH (4)§H
A I : AfdHxor §, ot b v\ dierE @ 8
g |
F 11 : Ffadxor H, b dierE fibw @1 Rerfa
BRSNE RS
(1) HIF-1 T B, HIUT-2 T 8; HU-2 HUA-1
% forT HE AT § |
(2) HUF-1 ¥ B, HIF-2 G 8; HAA-2 HUA-1
% fore wE BT B |
(3) AT -1 FI & HIT -2 [ & |
(4) AT -1 3T & HIT -2 9 ¢ |

P (A) : STAETD B oI YRR BT A9Ae

Ul FOHD BIl @ |

PRI (R) : AUAE H gfg @& AT efaras o

ATADBT 98 S 2 |

(1) B 3R HRT GFl I B, 3R HRUT, HIH
B FE IR T |

(2) B R HRU S I B, 3R IR, HIA
B AL AT TE B |

(3) AT T B AfbT BRI I & |

(4) BIT T & AfhT RO T T |

Space for rough work
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39.

40.

41.

42.

43.

-V characteristic of diode is shown in figure.
1(mA)

20
—V(volt) {.)0 80 60 40 V(volt)

0.2 04 06 08 1.0

I(nA)

If this diode is connected across a battery of emf 10

V and a resistance of 12KQ in series, the current
through diode in forward bias is nearly :

(1) 0.4 mA (2) 0.93 mA

(3) 0.8 mA (4) 1.2 mA

A liquid does not wet the surface of a solid if the
angle of contact is

(1) An acute one (2) 45°

(3) An obtuse one  (4) Zero

Figure shows two holes in a tank containing liquid.
The liquid coming out of holes strike ground at
same point. The height of liquid in tank is:

}4cm

}fn:m

(1) 980 cm (2) 9.8 cm
(3) 8cm (4) 10 cm
The escape velocity of a body from earth's surface

is V. The escape velocity of the same body from a
height equal to 7 Re from earth's surface will be :-

v
1 e
V75
Ve

2\2

A spherical drop of capacitance 1uF is broken into

Ve
@

3) M>%

eight drops of equal radius. Capacitance of each
small drop is :-

1 1
(1 guF (2) ZuF

1 1
(3) uF (4) cuF

39.

40.

41.

42.

43.

SIS T -V 3ifiererfre o o goiiar mam g

I{mA) /

1100 80 60 40 20 T
1 T T L} T T T
0.2 0.4 0.6 0.8

T T

-V(volt)

™ V(volt)
1.0

I[nA)
Ife v Srs fagd a8 9o 10 V &l 9 ¥
qAT 12kQ S=IAT H, ST &, aT s gy
SIS & AH ¥ GRT ST 82—
(1) 0.4 mA (2) 0.93 mA
(3) 0.8 mA (4) 1.2 mA
TP TRl Y SN HI Adg Pl el 8] Hal 8
IfE U PIvT B
(1) =T 1T (2)45°
(3) 3iferep proT (4) 3
ferd dRet gaa <o | 1 v fwmar 2 fosl |
el aTell oRel U &l fdg R S | Tehva

81 <P H el uered B HAE &

} 4 cm

L

(1) 980 cm (2) 9.8 cm

(3) 8cm (4) 10 cm

g Bl Fde ¥ Bl 9% &1 IadT I Ve © |
g Bl Jqe J 7 Re ® SRR Feals I I a%]
BT AT I RT BIITP

V.

1 E 2
()\/E @)
V
3 e 4) =&

()Z\E sy

1uF IRAT &l b TR §a a-1eR e ol
38 §al H T OINil 2| U¥d BIcl §8 &I aiRkar
3

1
(1) gHF

ro |m<

<

1
@ SuF

1 1
(3) uF (4) ruF

Space for rough work

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018

an




44.

45.

Electric potential in a particular region of space is
V =12x —3x2y + 2yz?. The electric field at point
P(Im,0,-2m) is :-

(1) 12 unit (2) 13 unit

(3) 5 unit (4) Zero

Wheatstone bridge is balanced. Find ratio of
electric power dissipated in (P + Q) to (R +S) :

()1:1
(3)P?: Q?

44.

45.

AR & TP fRw & H fogd fova
V=12x—3x?y+2yz? &1 8§ P(Im,0,-2m) W
faega & &
(1) 12 unit (2) 13 unit
(3) 5 unit (4) Zero
@ fau dgferd 8 (P+ Q)W (R+S) H &l
faela oIfdd &1 U ST dIfSTg—

P’ Ny, Q

()1:1
€))%

Space for rough work
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PART - 1l : CHEMISTRY

46.

47.

48.

49.

50.

Dilute HCI precipitated only group I cations and not
other cations. This is because of the fact that

(1) solubility product of first group chloride are less
than the chlorides of other metals.

(2) solubility product of group I chlorides is
maximum among all metals chlorides.

(3) All metal chlorides are partially soluble.

(4) All metal chlorides are insoluble whereas only
grap-I metal chlorides are soluble.

The maximum number of stereoisomer possible for
the ion [Pd(en),Br, ]2+ is

s 2)3

(3)4 48

Given below are two statements, one is labelled as
Assertion (A) and the other is labelled as Reason

(R). Assertion (A) trans-pent-2-ene is polar but
trans-but-2-ene is non-polar.

Reason (R) The polarity of cis-isomer is more than
trans which are either non-polar or less polar.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both (A) and (R) are true but (R) is the not the
correct explanation of (A).

(2) (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

2.76 g silver carbonate on being strongly heated
yield a residue weighing.

(1)2.16 ¢ (2)2.48 ¢
(3)232 ¢ (4)2.64 ¢
In the combustion of 0.4 g of CH,,0.25kcal of heat

is liberated. The heat of combustion of CH, is

(1) -20 kcal (2) -10 kcal
(3) -2.5 kcal (4) -5 keal

46.

47.

48.

49.

50.

T HCl ®aa T8 [ g1+ ®I Jfa&lid el ©

3R 3= gl BT T8l | IE $ qF D BRI ©

f&

(1) 9 g FoIRIZS BT fAoiddl ToHhd 3=
U3l & FARTSE W FHH BT B |

(2) |1 TRl & FARTgS & 41 H TE | FARIgS
BT faelar U SrfrhaH BT § |

(3);ﬁa@w@eﬁf§w wU A goeie 8

(4) o u1g RS Srgeiie B0 8, wafd
Bhae Ae-1 OTg FaARIgS gorefial 81 €
[Pd(en),Br,|"" sma & forg e fifaw wwmaadan

B rfpaH H@r g

(1) 5 )3

(3) 4 4) 8

T & $HUF AT W T, TP BT FHAA (A) T WU
H 3R S DI BRI (R) & w4 H 3ifdha far
2 |

$UT (A) trans-pent-2-ene A © olfdhd trans-
pent-2-ene A % |

PRI (R) cis-TH@Idl &I AR g9 A Af¥dH
B & Sl AT Al AYAI AT ¥ g B © |
SR HUT & 3Mald H, A &y U Aweai #
A A8l SR BT =TT DI |

(1) i (A) 3R (R) 9 & fdd (R) (A) &7
e TREIHRIT 8 B |

) (A) ¥ ® Af (R) ToAd 2|

(3) (A) TaT § AfbT (R) b 2|

(4) T (A) 3R (R) 9 € <fhd (R) (A) &7
T WD B |

2.76 g RicaR BraiHe T Ifdfd T B U= 3raegy
BT go BT & |

(1)2.16 g (2)248 ¢

(3)232g (4)2.64 g

04 3 CH,® <81 9§ 0.25kcal ST gad &Il
g, CH,® <89 ¥ Had ST 8-

(1) -20 kceal (2) -10 kceal

(3) -2.5 kcal (4) -5 kcal

Space for rough work
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51.

52.

53.

54.

55.

During electrophilic substitution reaction of
Benzne, the hybridisation of carbon atom

(1) remains sp”in reactant as well as product
(2) changes from sp’tosp® from reactant to product

(3) changes from sp’to sp®from reactant to
product

(4) changes fromsp?to sp from reactant to product

Which element among the following has the

highest melting point.

(1) Fe

2) Cr

3)Cu

(4) Ni

Purines found both in  DNA and RNA are

(1) Cytosine and Thymine

(2) Adenine and Thymine

(3) Adenine and Guanine

(4) Guanine and Cytosine

Which of the following substituted benzoic acid is
the weakest acid?

COOH
COOH
M [:f:] @)
C
COOH COOH
(€) 4)
CH, NO,

When conc. H,SO, is heated with P,O,, the acid is

converted to

(1) a mixture of sulphur dioxide and sulphur
trioxide

(2) sulphur

(3) sulphur dioxide

(4) sulphur trioxide

51.

52.

53.

54.

5S.

JOI @1 Sotdel= ol UfaRTas S1fafhar & gk,
BIE URAT] BT FHIT

(1) sp*3IERS & AT ITE # T B
(2) sp*¥ sp’AfIBRS A I dd yRafda gr
(3) sp>H sp? IMBRS A IUTE Td gRAfd BT

(4) sp’Vsp AMIPR® I IATE db yRAfId g1
ffalRaa § 9 fd 9@ &1 Toie a9 31f®
2l

(1) Fe

2) Cr

(3) Cu

(4) Ni

DNASIR RNA HI # 9 S dTel R 2—
(1) Cytosine 3R Thymine

(2) Adenine 3R Thymine

(3) Adenine 3R Guanine

(4) Guanine 3R Cytosine

frefeRaa & & dF A1 gfoRenfua doiigs s
A gddl 30 &7

COOH
COOH
(1) [:f:] 2)
C
COOH COOH
3) “4)
CH. NO,
9 ¥ H,S0,, P,O. & ¥ TRH fHar I w,
qT 3T BT URId & SffaT &

(1) AoHR STIITATSS 3R AHR CIRIRATSS BT
fosor

(2) AEHY

(3) HeHR SIS S

(4) TR TIRRiTaATSS

Space for rough work
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56.

57.

58.

Given below are two statements.
Statement I: K,SO, and CuSO,are added in

Kjeldahl's method. K,SO, acts as a catalyst while
CuSO, raises the boiling point of H,SO, .

Statement II: Baeyer test is used to distinguish
Cl and Br~ions.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are false.

(2) Statement I is true but Statement II is false.

(3) Statement I is false but Statement II is true.

(4) Both Statement I and Statement II are true.
Match the list-1 with List-II

List-1

Alkyl halide with NaOH

Hydration of alkenes

Nitration of benzene

Reaction of alkene with NBS

List-11

(1) Electrophilic addition reaction

SN 'S

(i1) Nuclophilic substitution reaction
(iii) Free radical substitution
(iv) Electrophilic substitution reaction

Choose the correct answer from the options given
below:

(1) A-(i), B-(ii), C-(iv), D-(iii)

(2) A-(iii), B-(i), C-(iv), D-(ii)

(3) A-(ii), B-(i), C-(iv), D-(iii)

(4) A-(iv), B-(i), C-(i1), D-(iii)

Which of the following statement is correct?
(1) o—bond is weaker than 7t —bond.

(2) HF is less polar than HI.

(3) In NH; ion, four coordinate bonds are present.

(4) In SF,, all S - F bond lengths are same.

56.

57.

58.

9 Q1 B oy v B |

U I K,SO, 3R CuSO, Sicsral fafsr & e
S g1 K,SO,S8R& & U H BRI PRl ©
CuSO,5Tafe H,SO, BT Jao i aaTdl & .

YT II: S9R T&0T BT ITIRT Cl 3R Br Al
H 9E B B foru fbam S € |

SR BT & 3Mald H, A Ay 10 Ameai #
A FE IR BT FI9 DI |

(1) U 1 3R S 11 T A |

(2) B 1 FF & fhd HIF 11 3 ¢ |

(3) HUF 1 3T & Afhd U 1l 9 ¢ |

(4) B 1 3R B 11 1 9 B |

A1 B FA-I1 & A1 FGAfTd BIFTT |

I

A. Alkyl halide & &12T NaOH

B. Uchls BT STeldror

C. §519 BT AL

D. NBS & 11 Uedhle &1 Srfufehar

A—I1

(i) Selgcifthicld ARMTHS AT

(i) RFATthfete TfaRem= Sifafhar

(iii) G eTb AT

(iv) Seiagiftbfera gforemu= sififoar

e fdu U fAwetl @ | 9 SR BT T DI

(1) A-(i), B-(ii), C-(iv), D-(iii)

(2) A-(iii), B-(i), C-(iv), D~(ii)

(3) A=(ii), B-(i), C~(iv), D=(iii)

(4) A=(iv), B-(i), C-(ii), D-(iii)

frfoad & & o9 91 BUF HE 87

(1) n—3F @ oI T § o—99 gdd = |

(2) HF, HI @1 gorT # &F ¢d1g g 2 |

(3) NH; 39 3 IR Iuqsddel 99 A9g 2 |
(4) SF, § 9% S-F 49 BI ofars 999 & |

Space for rough work
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59.

60.

61.

Given below are two statements.

Statement I: If a molecule has polar bond, then it
is always polar.
Statement II:

structure.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are false,

(2) Statement I is true but Statement II is false.

(3) Statement I is false but Statement II is true.

(4) Both Statement I and Statement II are true.
The incorrect statement about the oxoacids, HCIO,

and HCIO, is
(1) the central atom in both HCIO,and HCIO is

sp® hybridised.

XeF, has distorted octahedral

(2) the conjugate base of HCIO,is weaker base
than H,O

(3) HCIO, is formed in the reaction between Cl,
and H,O

(4) HCIO,is more acidie than HCIO because of

the resonance stabilisation of its anion.
Match the List-I1 with List-11
List-I (Name of compounds)
A. p,p-dihydroxy benzophenone
B. 3-bromo-4-phenylpen-t anoic acid
C. p-nitropropiophenone
D. Hex-2-en-4-ynoic acid
List-II (Structure)

O,N O
(1) \@\n/\ (i1)
0 HO OH
Bro . 0
(i) @\/U%H )i

Choose the correct answer from the options given
below.

(1) A<(iv), B~(iii), C~(ii), D-(i)
(2) A<(i), B-(iii), C-(iv), D-(ii)
(3) A<(ii), B~(iii), C-(iv), D(i)
(4) A<(ii), B~(iii), C-(i), D~(iv)

59.

60.

61.

= a1 o fy MU F |

FUF I I B o] # gd de+ 2 &, a1 I8

TR gdrg BT T

DU I XeF, [Id rehady |a- T 3G & |

SWRIH HAAT B 3Melld 1, 1 Ay 70wt o

A A8 SR BT T DI |

(1) U 1 3R B 11 T 3 T,

(2) B 1 T & fhd HAF 11 3 ¢ |

(3) BUF I 3T © Afdh B 11 9 B |

(4) B 1 R B 11 < I 2|

st HCIO, iR HCIO & R # TTeld &ef,

2

(1) | HCIO, 3R HCIO # &gk TRy sp’
HHRT T |

(2) HCIO, &1 |¥g™ &R H,0d! ga= ¥ gacl
8RR ¥

(3) HCIO,,Cl, 3R H,0 @ aiffekar § a+ar 8

(4) HCIO,, HCIO, & 313/ 31eid © SH® 3
@ 3fFe ReKIHRI & BRI |

A1 BT FA-11 & A1 GAferd BIFTT |

List-I (@fr® &1 M)

A. p,p-dihydroxy benzophenone

B. 3-bromo-4-phenylpen-t anoic acid

C. p-nitropropiophenone

D. Hex-2-en-4-ynoic acid

List-11 (F=+)

O,N O
) @A (i)
O HO O
Br O
i W . T
H Z > “OH

o Y T faeeul & 9 98 &1 I B

H

(1) A=(iv), B~(iii), C~(ii), D-(i)
(2) A~(i), B-(iii), C-(iv), D-(ii)
(3) A-(ii), B~(iii), C-(iv), D~(i)
(4) A(ii), B~(iii), C-(i), D-(iv)

Space for rough work
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62.

63.

64.

Given below are two statements.

Statement I: Aromatic aldehydes and formaldehye

undergo Cannizzaro reaction.

Statement II: Aromatic aldehydes are almost as

reactive as formaldehyde in nucleophilic addition

reactions.

In the light of above statement, choose the corred

answer from the options given below.

(1) Both Statement I and Statement II are false.

(2) Statement I is true but Statement II is false.

(3) Statement I is false but Statement II is true.

(4) Both Statement I and Statement II are true.

Consider the following statements about chelating

ligands.

I. They have more than one donor atom.

II. They are non-linear and they must form bonds
with reasonable angles at the metal atom.

III. Ethylenediamine is a bidentate chelating
ligand.

IV. They have low affinity for a metal ion than
monodentate ligands.

V. They form less
monodentate ligand.

The correct statement is/are

(Il and V (2) Both I and IV

(3) Both IT and III (4) I, IT and III

Match the List-I with List-II.

List-I (Electronic configuration)

List-II (Electronegativity of element)

stable complex than

A. 1s%,25%,2p° (i) 3.04
B. 1s%,2s°,2p* (ii) 2.58
C. 1s%,25°,2p° (iii) 3.98

D. 1s?,2s%,2p%,3s%,3p* (iv)3.44

Choose the correct answer from the options given
below.

(1) A-(iv), B-(iii), C-(i), D-(ii)

(2) A-(ii), B-(iv), C-(i), D-(iii)

(3) A-(iii), B-(iv), C-(i), D-(ii)

(4) A-(1), B-(ii), C-(iii), D-(iv)

62.

63.

64.

a0 a7 Fue fay T § |

P9 I Wofes vfesems iR BHUcsIRES
TR afAfhar <o 2|

DU I Y[daAbiers IRTd  srAfhars H
WRHfed Tfossss T BHUcsIsRS & fordHl
B arfafsharsiier 81 € |

SRIE HAT B ATelld H, A ey v fapedt #
J Fgdg SR BT I DINY |

(1) B I R HU 11 SFT N & |

(2) B 1 I § Afhd B 11 3T ¢ |

(3) HUF 1 3T & Afhd I 11 FF ¢ |

(4) BT I R B 11 <4 I 2|

?ﬁﬁaﬁmﬁaﬁﬁﬁwﬁr@azﬁﬁww

[

I S U¥ U ¥ S1fd raT AT 2 |

1. 9 3RRaP B € AR a1g TRATY R IR Hroff
@ T §UF 997 Ah ¢ |

1. URETsSIdsd Ud fgadad weifeT forive
2|

IV. 39 U9 AFrsce ferils &1 et H ¢Tq 3
@ foru &9 dyar 2|

V. d gFISce forls @ ol § &F Rl daqd
I 2 |

el BUH B/ E

(1) III 3R V (2) 1 3R IV gHf

(3) 1 3IR I <= (4) 1, 11 3R 111

A1 BT FA-I1 & A1 FAfTd BIFTT |

-1 (elasite fa=ar)

A1 (T B ARSI

A. 1s%,2s%,2p° (i) 3.04
B. 1s%,25%,2p* (ii) 2.58
C. 1s?,2s?,2p° (iii) 3.98

D. 1s?,2s%,2p°,3s%,3p* (iv) 3.44
A U U fadment # | Wl SR BT TIT HIY |

(1) A=(iv), B-(iii), C-(i), D-(ii)
(2) A<(ii), B(iv), C-(i), D-(iii)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A~(i), B~(ii), C-(iii), D-(iv)

Space for rough work
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65S.

66.

67.

68.

69.

Select the correct statement(s).

I. Electron gain enthalpy of noble gases are high
positive value.

II. Electron affinity value of halogens are highly

positive.
IIL. Ist electron gain enthalpy of most of the
elements are negative while successive

electron gain enthalpies are positive.
IV. Electron affinity of Be and N are same.
(1) Only IV 2)Tand I
(3)Tand 1T 4 I, 1l and III
In the estimation of nitrogen by Kjeldahl's method,
2.8 g of an organic compound required 20
millimole of H,SO, for the complete neutralisation

of NH, gas evolved. The percentage of nitrogen in

the sample is

(1)20 % (2) 10%

3)10% 4) 30%

For a hydrogen atom, the energies that an electron
can have are given by the
E=-13.58/n%V, where n is an integer. The

smallest amount of energy that a hydrogen atom in

expression,

the ground state can absorb is

(1) 1.00 eV (2)3.39eV

(3)6.79 eV (4) 10.19 eV

The TUPAC nomenclature of an element with
electronic configuration [Rn] 5f*6d'7s® is

(1) Unnilhexium

(2) Unnilumium

(3) Unnilquadium

(4) Unniltrium

Which of the following order is correct regarding
acidic strength?

(1) CL,O>ClL,0,>Cl,0,
(2) CL,O>Cl,0, >CL0,
(3) CL,O<CL,0, <Cl,0,
(4) CLLO<CI,0, <Cl,0,

65.

66.

67.

68.

69.

el B BT FIT HIFOTT |

I bl 0 @1 Seldgiy dfe Tedl S
gFTHS H9 BT 2 |

II. IS BT gelagld SEdl A1 3fAfdd gD

2l

IIL 3BT Tl B UIH Soideld el Tl
FOMHS BT & Sldih BiFd Soiderd il
A gATHS BT B |

IV. Be T N &1 Sciagi= SgdT F9 8Kkil 2|

(1) ®ad IV (2) I 3R 1I

(3) 1 3R III (4) 1, 11 3R 111

Kjeldahl's @ fafer gRT GGG & 3Mdbed H, Th

Frafe AfE & 2.8 ¢ fow 20 MM H,SO,

P AEIHAT BRIl 8 Il NH, 1 & gof

AR & forg o # ASgio &1 ufera

T 8?

(1) 20 % (2) 10 %

(3) 10 % (4) 30 %

BISglo WA & folY, Udh golagie & ol

E=-13.58/n%V 3fafth gRT < S Wadl 2,

&l n U QUNd 8. ol AT H BISglold URAT]

ERT IJAENT ®F SIH dTell Holl & Fad B

AT AT 87

(1) 1.00 eV (2)3.39eV

(3) 6.79 eV (4)10.19 eV

[Rn] 5f*6d'7s* Sciagiivia fo=amd dret dwd &1

IUPAC STH@RUT &

(1) Unnilhexium

(2) Unnilumium

(3) Unnilquadium

(4) Unniltrium

ey amed & ey H fr=falRad § 9 a9 @

%H 8! 27

(1) Cl,0>CLO, >CLO,

(2) C1,0>Cl,0, >ClL0,

(3) C,0<Cl,0, <Cl,0,

(4) CL,0<Cl,0, <Cl,0,

Space for rough work
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70.

71.

72.

73.

Which of the following sequence is correct with
reference to the oxidation number of iodine?

(1) 1, <ICI<HI<HIO,
(2) HIO, <ICI< I, <HI
(3) I, <HI<ICI<HIO,
(4) HI<1, <ICI<HIO,

Match List-I with List-I1
List-I
[Cr(NH3)4C|2]CI

[Ti(H20)5C|](N03)2
[Pt(en)(NH;)CI]NO,
[Co(NH,),(NO,),]NO,

List-11
I. Paramagnetic and ionisation isomerism
II. Diamagnetic and cis-trans isomerism
II1. Paramagnetic and cis-trans isomerism
IV. Diamagnetic and ionisation isomerism
Choose the correct answer from the options given
below:

(1) A-IIL, B-I, C-1V, D-II

(2) A-1, B-II, C-III, D-IV

(3) A-IL, B-1V, C-III, D-I

(4) A-111L, B-1, C-I1, D-IV
Cl

©

In the above reaction, the product ‘y’ is:

(1) phenol (2) nitrobenzene

(3) 2,4-dinitrophenol = (4) picric acid

The product formed when acetone is treated with
phenyl magnesium bromide followed by acidic
hydrolysis is

SENEE 'S

(DHNO3/H,S0, o 3¢
7
(i) NaOH/A

i) HNO,/H,SO
(i) 31290, >Y

OCH, el
(1) )\@ @)
OH
(3) (4) ~OH

70.

71.

72.

73.

[allaN

TS @1 STRIBROT AT & AW H FrferRad
H 9§ B AT ITIHH Al B?

(1) 1, <ICI<HI<HIO,

(2) HIO, <ICl <1, <HI

(3) I, <HI<ICI<HIO,

(4) HI<1, <ICI<HIO,
A1 BT G-I & | FHlerd BIfTY
-1

A. [Cr(NH,),Cl,]Cl

B. [Ti(H,0),CI](NO,),

C. [Pt(en)(NH;)CI]NO,

D. [Co(NH,),(NO,),]NO,
A1

I 3ggE@Id 3R AT FHATGIT

I Uf@ 3R cis-trans FATGIIA
ML 3JFHHIT 3R cis-trans FHGAGAT

IV. Tfge@R 3R R FHEddd]
) e Ty Reedt § ¥ 98 SR &7 T ST

(1) A-III, B-I, C-IV, D-II
(2) AL, B-I1, C-II1, D-IV
(3) A-II, B-1V, C-111, D-I
(4) A-IIL, B-I, C-II, D-TV
Cl
()HNOy/H;S0, ¢ v
(ii)NaOH/ A
SIRRH SfAfhar #, Sare ‘y’
(1) frdrat (2) TSI
(3) 24-sEfMgwAta (4) fUfhs sra
Ule &l g HRRY SHEs & 918 Iy
STl 3Mqees & 1Y SUHIRd $HR+ UR g9 dTell
ST RIT BIAT 27

(DHNO3/HSO, o\

OCH, oH
(1) )\@ @)
OH
(3) (4) O

Space for rough work
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74.

75.

76.

77.

78.

Which of the following species does not exist?
(1) Be" (2) Be,
(3) B, 4 N,

Which of the following reactants are used to obtain
methylphenyl ether?

(1) Phenoxide ions and methyl iodide

(2) Methoxide ions and bromobenzene

(3) Methanol and phenol

(4) Bromobenzene and methylbromide

Match the List-1 with List-11
List-1 List-11
(Species) (Number of lone pairs

of electron
the central atom)

A. XeF, (1) 0
B. XeOyF (@) 1
C. XeOsF (1ii) 2
D. XeF,4 (iv) 3

Choose the correct answer from the options giva
below.

(1) A-(iv), B-(ii), C~(1), D-(iii)
(2) A-(1), B-(i1), C-(iii), D-(iv)
(3) A-(ii), B-(i), C-(iv), D-(iii)
(4) A-(iii), B-(iv), C-(i1), D-(1)
The product Y is

@ +Cl, Fe/Dark o n¢ ClIAICl o\

(1) 1, 3-dichlorobenzene
(2) Benzyl chloride
(3) 1,3,5-trichlorobenzene

(4) Mixture of 1, 2-dichlorobenzene and 1, 4-
dichlorobenzene

The Osmotic pressure of a solution can be increased
by:

(1) Decreasing temperature

(2) Increasing concentration

(3) Decreasing concentration

(4) Increasing volume

74.

75.

76.

77.

78.

for=ferRad & 9 & A wonfa &1 iRaa =gt 27
(1) Be" (2) Be,
(3) B, ) N,
Aferctfharse $oR U &R+ @ forv fAmferRaa #

T {5 ifeRe &1 STANT fhar Srar 27

(1) fraTRITgS 3 3R RS SmisIgs
(2) AAFATSS 3T 3R FrHAGOIT

(3) WEle 3R e

(4) FHEESTH IR FgaaHEs

A1 BT G-I & ATl FHferd DI |

-1 Ei-11

(romfcrar) (GIaEE & YT SIS &
A. XeF, )0

B. X602F2 (11)1

C. XeOsF, (iii) 2

D. XeFs (iv) 3

T feU U fAdedi § & [E SR BT T HIT |

(1) A-(iv), B-(i1), C-(i), D-(iii)
(2) A-(i), B=(ii), C-(iii), D-(iv)
(3) A-(ii), B(i), C-(iv), D~(iii)
(4) A-(ii1), B-(iv), C-(i1), D-(1)
e Y R®IT B?

@ B | Fe/Dark o x¢_ CLIAICK o\

(1) 1, 3-dichlorobenzene

(2) Benzyl chloride

(3) 1,3,5-trichlorobenzene

(4) 1, 2— dichlorobenzene
dichlorobenzene @1 THsToT

e e &1 sififcd <19 9gr S |ahdT 2 |

(1) AT H BHHY

(2) =@l g W

(3) ATl ®H BT W

(4) 3mIaT ¥ ghg

IR 1, 4—

Space for rough work
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79.

80.

81.

82.

The pH range at which a particular amino acid does

not migrate under the influence of an electric field

is called

(1) diffusion

(2) yielding point

(3) isoelectric point

(4) eutectic point

Which of the following statement is correct?

(1) [Co(en)3]3+ is paramagnetic, inner orbital
complex.

2) [Co(en)3]3+ is diamagnetic, outer orbital
complex.

3) [Co(en)3]3+ is paramagnetic, outer orbital
complex.

4 [Co(en)s]3+ is diamagnetic, inner orbital

complex.
Select the incorrect statement about cyclohexane
from the following
(1) It exists in chair and boat form conformation.

(2) Twist boat is less stable than chair
conformation.

(3) Each carbon atom has an axial and equitorial
hydrogen.

(4) Chair form is the least stable conformation.
Consider the following reaction,

H,0(s) = H,0O(I)

The water and ice is at equilibrium at 273 K and
enthalpy change of process is 6kJmol™". The

entropy change of conversion of ice into liquid
water is

(1) 21.98JK™* mol™
(2) —21.98JK " mol™
(3) —21.98JK™

(4) +2198kIK™

79.

80.

81.

82.

pH W™ R/ R U [T /AT ot fagla &
% WG H ARG 8l 8ldl &, S &7 Hal STl
g7

(1) faa=or

(2) @it fag

(3) wHagd fdg

(4) Fefdes fdg
frfeRaa & & @19 A1 B9 A8 87

(1) [Co(en), " srggraehia, Tk Perd Segel 2 |

(2) [Co(en), | wfrgraepa, aredr Pefr aReR 21

(3) [Co(en),|" srggraehia, ared defir aReR 2|

(4) [Co(en), | Tfrgratla, 3R Perd el & |

fforRad & & ARdeiedT @ dR H Told dU

BT FIT DI

(1) I8 G4t 3R 719 & FHUT # HigE 2|

(2) faea g BT DI EREAT DI oI H B IR
=

(3) IS HIa WA H UH el 3R el
HESINEEGIRS

(4) BT BT BU FIH BH RN THIUT T |

fA=ferRad arfafhar wr faar &,

H,O(s) = H,0(l)

el 3R 9% 273 K OR AR W 3R UshA &l

Tl gRads 6kJmol™8? 9% & el § gga

&1 TTdl gRady T 87

(1) 21.98JK* mol™

(2) —21.98JK ™ mol™

(3) —21.98K ™

(4) +2198kJIK™

Space for rough work
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83.

84.

85.

86.

87.

For a mixture of HCl and water, the following
statements are written.

Statement I: The solution exhibits negative
deviation from Raoult's law.

Statement II: The solution boils at a temperature
higher than those of either components.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement I is false but Statement II is true.
(2) Statement I is true but Statement II is false.
(3) Both Statement I and Statement II are true.

(4) Both Statement I and Statement II are false.
A zero order reaction is one in which

(1) Reactansts do not react

(2) One of the reactant is in excess

(3) Whose rate does not change with time

(4) Whose rate increases with time

Consider the reaction,

Cl,(9) + 2Br (aq) ——>2CI" (aq) + Br,(aq)
The emf of the cell when
[CI’]:[BrZ]:[Br‘]zo.OlM and Cl,gas at 1

o

atm pressure will be ( E_, for the above reaction is

cell

=0.29volt ).
(1) 0.65 (2)0.35
(3)0.85 (4) 1.35

Which of the following statement is incorrect

(1) Glucose reacts with bromine water to from
saccharic

(2) Glucose reacts with Red-P and HI to form n-
hexane

(3) Glucose is a reducing sugar

(4) Glucose reacts with hydroxylamine to form
glucose oxime.

A white sodium salt dissolves readily in water to
give a solution which is neutral to litmus. When
silver nitrate solution is added to the
aforementioned solution, a white precipitate is
obtained which does not dissolve in dil. nitric acid.
The anion is

(1) COZ
(2) NO;

3)s*
4) Cr

83.

84.

85.

86.

87.

HCI 3R Sl & fAsior & forw, f=feRad e
forg v 2 |

HI I: Ao ISee @ 99 9 Fomedd f[agers
yef¥fa wxar & <91 § A

FF II: faaas fo o ocd & dm™ 9 S1fd®
qr9 R ST 2 |

SRIKh BT & 3Melld |, Hd fu v fabent &
I FE SR BT AT DI

(1) I 1 3T & lfhd A 11 9 2 |

(2) B 1 I § Afhd B 11 3T ¢ |

(3) U 1 3R B 11 a1 9 B |

(4) B 1 3R S 11 T 3 |

I Pife Afifrar ag & foras

(1) eTM®RS ufafshar T8l &=

(2) U AfMHRSD e A= H 2|

(3) @ & F99 & |1 T8 derdl 2 |

(4) Rraa! X 999 & |1 9l © |
fAfhar R faaR &,

Cl,(g9) +2Br (aq)——>2Cl (aq) + Br,(aq)

¥l @1 emf Si9 [CI |=[Br,]=[Br |=0.01M

3R Cl, 4 &1 <19 1 atm 1 (E,, SURRH 3TA{HAT
@ forg 0.29volt ) BRI

(1) 0.65 (2) 0.35
(3) 0.85 4) 1.35
for=ferRe & & BT B Told 2 |

(1) TeIDIST S STt B S1eT SIATHAT T ABRD
AT B

(2) TDIST Red-P iR HI & W11 1fAfhaT o n-
hexane §9TQT T |

(3) DI U SUARID DB 2 |

(4) TeqDIST BIggifTel THIF & |1 ifafshar ove
TSB! JATRAA g1 ¢ |

U e AINSIH oTavl Sidl H AT A gl ST

g fh Te o f&ar o | o forensd & forg

SefE 81 9T SWRIG bl § Rear A18¢e 9

fremar SiraT 8, 9 U g%e I7dely T BIdT © il

AEfed v H TE gl 2 | U ©

(1) CO% (3) S

(2) NO; 4) CI

Space for rough work

(22)

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018




88.

89.

90.

The reaction which is induced in the preparation of
ethene from chloroethane is

(1) B -elimination (2) reduction

(3) a—elimination (4) dehalogenation

Which of the following statements is correct for

ethyne molecule?

(1) Ethyne molecule consist of two C—Co -bonds.

(2) It has one = -bond.

(3) Itis a non-linear molecule.

(4) Electron cloud between two C-atoms is
cylindrically symmetrical.

Given below are two statements.

Statement I: Fluorine does not form polyhalide as

it has low F-F bond energy.

Statement II: Chlorine has most negative electron

gain enthalpy.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is false but Statement II is true.
(2) Both Statement I and Statement II are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement II is false.

88.

89.

90.

FARIZIA | e & oo § uRa arfafeear @

g7

(1) B- frpra (2) T

(3) o—T=prIT (4) fagareH

fFefoRad § & @19 |1 HUF vATST AY & forg

e 8?

(1) T8 319 # &1 C—Co §¢ B 2 |

(2) 39 UP 199 ©

(3) IT TS IRRIF I T

(4) BT C-TRAMAT & 919 Selde o9cd daTTdhIR
AT BT 7 |

9 Q1 B fay v E |

FHUH I: TR Uleilediss d8] 9971 § Fifdh g4

% F-F 9 Fofl el 2|

FIF I TR H a9 ROTHSD Soldg = ofT

Tl Bl 7 |

SRRE BAAT & 3Melld #, [ ey 71U faweat

e SR BT AAT DITT |

(1) U 1 39 & oAb B 1l 9 ¢ |

(2) HUF 1 AR I 11 A T B |

(3) BUF 1 3R B 11 T 3 ¢ |

(4) BUF [ T § Afdhd S 11 31 B |
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PART - Il : BOTANY

91.

92.

93.

94.

9s.

96.

Choose the correct statement for plants
(1) Diploid plant body produce spores by mitosis

(2) Haploid plant body produce gametes by

meiosis

(3) Fertilization and meiosis cause alternation of
generations

(4) Zygote divide by meiosis to produce
sporophytic generation

There are _ megadiversity countries in the

world.

(1) 12 (2) 22

3) 14 (4) 24

Which one of the following character cannot be
shown by the given pedigree‘?

4&5#
emom

(1) Autosomal dominant

(2) Autosomal recessive

(3) X-linked dominant

(4) X-linked recessive

Nuclear membrane is absent in

(1) Escherichia coli

(2) Riccia

(3) Chlamydomonas

(4) Funaria

Mucor, Rhizopus & Albugo belong to the class

(1) Phycomycetes
(2) Ascomycetes
(3) Basidiomycetes
(4) Deuteromycetes

Match the following columns

91.

92.

93.

94,

95.

96.

il & foy |El B BT Thq DY

(1) fgIftra i &1 IR FRET fawres gwa
TSIl BT IATEd IR 2

(2) YT ey TR IFEREAIISTT §RT =D
BT I PRI &

(3) Fu=EA iR SR UGl UdidReT &1
HROT I &

(4) dSgE 9 BT [T )T B fo
SRTRIANTIATSTT gRT ol farford

gard ggfafuar ae <wr €
(1) 12 ) 22
3) 14 4) 24

&) T gedent g1 fAEforRad | & di—3 et
e fearar o gadn %"?

4&6#
emom

(1) SMSAHA HHTdT

(2) NSNS T

(3) X—Hgel yHrdl

(4) X—Hgel= Tl
Sradh foreell § AFURAT ©
(1) ge=R@ar sieis

(2) Riewar

(3) FATZSIITT

(4) 7R

RIHY. WIZSITE o Tosgn fhd vt | wdfda €
(1) BIEPMERIES

(2) TR

(3) SRS RIES

(4) SRS

Space for rough work
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97.

98.

99.

Column | Column 11
(A) Prokaryotic (i) Greenalgae
(B) Adgar-agar (i)  Brown algae
2-8, Apical ... Blue green
© flagella (i) algae
(D) Fucoxanthin (iv) Red algae

(1) (A)-(iii), (B)-(i1), (C)-(iv), (D)-(1)

(2) (A)-(ii1), (B)-(iv), (O)-(1), (D)-(ii)

(3) (A)-(i), (B)-(iv), (C)-(iid), (D)-(1)

4 (A)-(i1), (B)-(iii), (C)-(iv), (D)-(1)

Who considered the virus as the Contagium vivum
Sluidum?

(1) Louis Pasteur

(2) W. M. Stanley

(3) M. W. Beijerinek

(4) D.J. Ivanowsky

What type of life cycle is found in seeded plants?

(1) Haplontic
(2) Diplontic
(3) Haplo-diplontic
(4) Diplo-haplontic

Match the following columns

Column i Column 11
(A) Tetradynamous (i)  Brassicaceae
(B) Epicalyx (it)  Fabaceae
(C) Capitulum (iii) Malvaceae
Vexillary :
(D) aestivatiofl (iv) Asteraceae

(1) (A)-(1), (B)-(iii), (C)~(iv), (D)-(i1)
(2) (A)-(1), (B)-(iv), (C)-(iii), (D)-(ii)
(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(1)
(4) (A)-(iD), (B)-(iii), (C)-(iv), (D)-(1)

100. Choose the correct equation regarding productivity

97.

98.

99.

100. SATCHAT & G H FeT FHIBRT BT II-

i | i |1
(A) TsRAICH (i) B A
(B)  STTR—3TTR (ii) 1 AT
©) fﬁfﬂmmgﬁﬁ” (i) efr &1 Sarer
(D) WD (iv) Tl ST

(1) (A)-(iii), (B)-(ii), (O)-(iv), (D)-(1)

(2) (A)-(iii), (B)-(iv), (O)-(1), (D)-(i1)

(3) (A)-(in), (B)-(iv), (C)-(ii1), (D)-(1)

(4) (A)-(ib), (B)-(iii), (O)-(iv), (D)-(1)

AT aIERE BT " BITIoTTH TETH FgSH I
T |

(1) g TR

(2) W. M. ==

(3) M. W. dioRf~®

(4) D. J. sarraxan!

ST a1l Uil H {5 YBR BT Siiae @b graT Sl

8?7

(1) SFyfor
(2) feafra
(3) Srpfor—feford
(4) fefora—sryford

B | caceal!
(A) SIS (iy sfaaw
(B) Uftaforad (i) a=d
(C) ddigem (iii) AT
0) T BT gy e

(1) (A)-(), (B)-(ii1), (C)-(iv), (D)-(ii)
(2) (W)-(1), (B)-(iv), (C)-(iii), (D)-(ii)
(3) (A)-(i), (B)-(iv), (C)-(iii), (D)-(1)
(4) (A)-(iD), (B)-(iii), (C)-(iv), (D)-(1)

O N

[Ts1q
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101.

102.

103.

104.

10S.

106.

(1) GPP+ R =NPP

(2) NPP=GPP-R

(3) NPP-R =GPP

(4) NPP-GPP=R

Petals in China rose are

(1) 5, Gamopetalous and twisted

(2) 5, Gamopetalous and valvate

(3) 5, Polypetalous and valvate

(4) 5, Polypetalous and twisted
Assertion: Maize grain is actually a fruit.

Reason: Pericarp is membranous and completely
fused with the seed coat.

(1) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(2) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

(3) Both Assertion and Reason are false
(4) Assertion is true but Reason is false

Cells of grass leaves which help in minimizing
transpiration are

(1) Bulliform cells
(2) Guard cells

(3) Subsidiary cells
(4) Endodermal cells.

The coding strand of DNA has the nitrogenous base
sequence  5’ATTGCC3’. The sequence of the
primary transcript should be

(1) 5’UAACGG3’

(2) 3’AUUGCCS’

(3) 5s’AUUGCEY

(4) 3’'UAACGGS’

Phloem parenchyma is absent in

(1) Vascularrays  (2) Monocot stem
(3) Dicot root (4) Dicot leaf

Choose correct labelling w.r.t. the following age
pyramid

101.

102.

103.

104.

105.

106.

(1) GPP+ R =NPP

(2) NPP = GPP - R

(3) NPP— R = GPP

(4) NPP - GPP=R

S8 & & ©7

(1) 5, 9y <, mEfid

(2) 5, AYH T, DHREI

(3) 5, 98ad, PRI

(4) 5, 988, S@kia

HUF: HIHT BT ST aRAd H Th Bl ¢ |

PR Bt fBieeiar 8 iR [ dvg & 4o

3RV & AT ST ol ¥ |

(1) B9 3R HRVT T TF & IR BRI, HIA
B e ARAT T8 &

(2) HUF IR BRI Sl T 8 AR BRI HIH
D el AR &

(3) HUF 3R BRI TH] T 8

(4) BT A B AfhT RO A ©

URT Tof &I BIRBIY ST arscdoid ®l dH B

H Aqg R €, 9 8

(1) el BIRIHT

(2) &TH BIRIDBT

(3) FERID BIRTHIY

(4) IRTYUIT BIFABT

DNA & BT ¥ # ARSI &R 3HH

5’ATTGCC3’ 81T & | Wreifis el &1 3rgdA

BEIRCIEN

(1) 5"UAACGG3’

) 3’AUUGCC5’

(3) 5’AUUGCC3

(4) 3’'UAACGG5’

TATgH INwhrsHT SrguRerd @
(1) Fag fa=ol (2) AFdIC H
() fedioa= g1 (4) fgdioru= o=it

fferRad oy fiRife @ ey & 921 AMiea g
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107.

108.

109.

A

B
C
(1) A- Post-reproductive, B- Pre-reproductive, C-
Reproductive
(2) B- Post-reproductive, A- Pre-reproductive, C-
Reproductive
(3) A- Post-reproductive, C- Pre-reproductive, B-
Reproductive
(4) C- Post-reproductive, A- Pre-reproductive, B-
Reproductive
Given below are two statements:

Statement-I: On the basis of position of
centromere, chromosomes are of four types.

Statement-I1: Different chromosome shapes are
observed in anaphase.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both statements are true
(2) Both statements are false
(3) Statement-I is true but Statement-II is false
(4) Statement-II is true but Statement-I is false

Choose appropriate option regarding given below

statements:

(i) Growth is measurable.

(i) In developing organs like embryo, initial
growth is usually arithmetic but later it
becomes geometric.

(iii)) Formation of meristematic tissue from a
permanent tissue is called Dedifferentiation.

(iv) Geometric growth can be represented by L; =
Lo+ rt.

(v) Biomass increases if rate of photosynthesis is
higher than respiration.

(1) (i), (i1) and (v) are incorrect
(2) (i), (iii) and (v) are correct
(3) (i), (ii1) and (iv) are correct
(4) (1), (i1) and (iv) are incorrect
Match the following lists

107.

108.

109.

A

B
C

(1) A — FSFAITEA, B — Yd—9sid, C — IS4

(2) B — USTHAIdIGH, A — H\ﬂ"l"l—q;é, C — US4

(3) A — gSHIATEH, C — Ya—Uoid, B — Ho+ 4

(4) C — USHHIaTeH, A —

W @ ®od fay T

HUT-1: AR @1 R & IR TR [oRIF R

YHR B B & |

SYA—I1: TSl ¥ AR ORE PR < ST

=

SWRIG BUEI & el § Ao Ry v faweai o

@@WWW$§HQ:

(1) SFi HIT I &

(2) SFl BUT NTY &

(3) BUF-1 TF © AfdbT HUF-11 I ¢ |

(4) BIF-11 TF § AT HAF-1 I ¢ |

A QU N HUEi & Wdg H gD fadwen @

TG DITY:

() gfg == o 2|

(u)ﬂ{UTéﬁﬁ'cﬁmeﬁaaﬂﬁﬁ I CoC| F-lCIERIN

gl ® oAfs qg H U

—aﬁ—c‘ﬁae‘raﬁﬁ%\'l

(i) TP WIR Hdd A ARCHACD Hdd & TS
®I fafaved &g 91T 7 |

(iv) ST gfg @I L= Lo+ 1t gRT UeRia fam
ST B |

(v) I BT FIATT &Y &% 399 o 3MfdF & ar
AR 9 ST 2 |

(1) (D), (ii) 3R (v) TeId &

() (), (iii) 3R (v) F&T &

(3) (ii), (iii) 3R (iv) T& &

@) (i), (ii) 3R (iv) 7Terd &

=1 et &1 e ax

qg—YSi, B — U
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110.

111.

112.

List I List 11
(A) Synapsis (i)  Zygotene
(B) Recombination (i)  Pachytene
Chiasmata .
© e rmation (iii) Diplotene
(D) Terminalisation (iv) Diakinesis

(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(1)
(2) (A)-(ii1), (B)-(iv), (O)-(1), (D)-(ii)
(3) (A)-(D), (B)-(ib), (O)-(iii), (D)-(iv)
@ (A)-(1), B)-(iD), (C)-(iv), (D)-~(iii)
What is incorrect regarding Mendelian Disorders?
(i) They are caused by an alteration or mutation in

a gene.

(i1)) Haemophilia, Cystic fibrosis, Sickle cell
anaemia, etc are important Mendelian
disorders.

(iii) They may be autosomal or sex linked.

(iv) Their pattern cannot be predicted through
pedigree analysis.

(v) Usually, they also show pleiotropism.

(1) 2-Correct, 3-Incorrect

(2) 2-Incorrect, 3-Correct

(3) 4-Correct, 1-Incorrect

(4) 4-Incorrect, 1-Correct

Assertion: Kreb’s cycle is also called TCA cycle.

Reason: First stable product of Kreb’s cycle is
Citric Acid, which is a tri carboxylic acid.

(1) Both Assertion and Reason are false
(2) Assertion is true but Reason is false

(3) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

(4) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

According to Robert May the global species
diversity is about
(1) 1 million
(3) 7 million

(2) 5 million
(4) 9 million

110.

111.

112.

Gl il
(A) Rriftas (i) SrEEE
(B) g (i) TSI
(C) WIVSHET T3 (i) ==
(D) cfiTersSe™ (iv) Srfeates

(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i)

(2) (A)-(iid), (B)-(iv), (C)-(1), (D)-(ii)

(3) (A)-(1), (B)-(ib), (C)-(iii), (D)-(iv)

@) (A)-(1), (B)-(id), (C)-(iv), (D)-(iii)

Hieforod AaR & IR § w7 Tord 27

(i) 9 v S # gRadd a1 IR & BRI
BId © |

(i) eMIfhferar, RiRecsd waM™, Red do

, IfY Aeaget Ao faerR 2|

(i) I AR a1 fofir Ager & Adhd 2|

(iv) aemaell faveye & Ay | SHd e @l
wfasgarft & & ST T 2 I

(v) AR WR, 9 fleragifoen «ff e 2|

(1) 2—921, 3—7Ted

(2) 2—Terd, 3—¥&1

(3) 4—92, 1—Tea

(4) 4—TTerd, 1|8

$U: he dh DI TCA ah |l el Il .

PROT: hd Th BT Yol KR STE Asod TRTS
?, Sl Th Breifeciicrnn RIS 2|

(1) BUF AR HROT I I &
(2) BIT T © Al HRIT 3T &

(3) HYF 3R BRI THI AF B AR BRI HIF
B e AT

(4) AT IR PR TFI I © AR BRI, B
@ e T e 2

9C 7 & IR dRad gSTiaal o1 faferdn T
g

(1) 1 fferm=
(3) 7 fAferm=

() 5 ffer=
4) 9 fAferz=
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113.

114.

115.

116.

117.

Which type of growth is shown in the given below

diagram?
!

! E\

[ |

4 3%

! E\\\
N

(1) Negative growth

(2) Arithmetic growth

(3) Geometric growth

(4) Relative growth

Choose the incorrect pair

(1) Corolla — Petal

(2) Calyx - Microsporophyll
(3) Gynoecium — Pistil

(4) Androecium - Stamen

How many meiotic divisions are required to
produce 100 pollens from PMCs?

(1) 80 (2) 50

(3) 100 (4) 25

Operon model for gene regulation in bacteria was

proposed by

(1) Watson and Crick

(2) Jacob and Monad

(3) Meselson and Stahl

(4) Hershey and chase

Choose the correct

fingerprinting

(i) Blotting

(i1) Isolation of DNA

(iii) Separation of DNA  fragments
electrophoresis

(iv) Hybridisation using labelled VNTR probe

(v) Digestion of DNA by restriction endonucleases

(vi) Detection of hybridised DNA fragments by
autoradiography

sequence of the DNA

by gel

(1) i, vi, ii, ii, iv & v
) ii, v, iii, i, iv & vi
3) i, i, iii, iv, v & vi
(@) ii, iv, iii, i, v & vi

113.

114.

115.

116.

117.

I fau U omg # 5 yaR @1 gfg <wiE TR

2
1y
AN

[ pm|
AN
! \E\.\\
[ -

(1) TPRIHD ghg

(2) BRI gfg

(3) S gfg

(4) Wt gf

TAd SISl &I a3 BN

(1) Sefgor - =

(2) ITEIGAYST — gdTarorgef

(3) ST — Ei6ay

(4) AT — gBRR

PMCs ¥ 100 TR &7 IcATGT & & o1y fave=

RIS @1 Maegdar gl 87

(1) 80 (2) 50

(3) 100 (4) 25

JFaRar #§ oiF faffme @ fog oiftRfA #Afea

foad gR1 uxarfad far T or?

(1) dfed 3R fobap

(2) SHd AR AFTE

(3) AT 3R e

(4) By 3R =S

DNA fb"REET &1 &1 HH g+

(i) =T

(ii) DNA T Geramoy

(i) o1&l dEYTHUAEAT ER1 DNA & Thsl &l
GIqHRUT

(iv) @fde? VNTR 9§ &I ST HR FDHRUT

(v) wfdey USIgfdelTsT §RT DNA &1 g

(vi) ATCRISATHT §RT HHRT DNA THSI BT Ul
T

(1) i, vi, iii, ii, iv T v

(2) i, v, ii, i, iv @ vi

(3) i, i, iii, iv, v @I vi

(4) i, iv, iii, i, v @ vi
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118.

119.

120.

121.

122.

A hybrid tall plant of Garden Pea was crossed with
a pure tall plant. Choose the correct option
regarding phenotype of offsprings

(1) 50% Tall and 50% dwarf

(2) Tall and dwarf in the ratio of 3 : 1

(3) All plants will be as tall as pure tall plants
(4) 50% Hybrid tall and 50% dwarf

What is the genotype of parents if blood group of
children is AB and O?

(1) IAIBand I°1°  (2) IBI° and IBI®

(3) I*1°and IP1°  (4) I*IB and IBI°

In Sickle-cell anaemia,  amino acidof __ chain
is substituted.

(1) 6™ and alpha, respectively

(2) 6™ and beta, respectively

(3) 5™ and alpha, respectively

(4) 5™ and beta, respectively

Conjoint, Collateral and Open vascular bundles,
arranged in a ring are found in

(1) Dicot leaf

(2) Monocot leaf

(3) Dicot stem

(4) Monocot stem

Match the following columns

Column | Column 11
Autosomal
(A) Phenylketonuria (i)  dominant
disorder
Myvotonic Autosomal
(B) d );tro h (i) recessive
ySIoPny disorder
Colour X-Linked
©)  plindness (iii)  recessive
disorder
Down’s . )
(©) syndrome (iv)  Trisomy 21

(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(1)
(2) (A)-(i1), (B)-(1), (O)-(iid), (D)-(iv)
(3) (A)-(iD), (B)-(iv), (C)-(iii), (D)-(i)
(4) (A)-(iD), (B)-(ii), (O)~(iii), (D)-(ii)

118.

119.

120.

121.

122.

9 @ | Haxvl fRar T oor| AW @
fhlcTsd & Hay # ¥el fadwey gy

(1) 50% <41 3R 50% &

(2) 3:1 & U ¥ ofel AR dT

(3) W U Yg d det @l a_E o g

(4) 50% HAHR 4T 3R 50% G

Ife g=di &1 B T AB @R O 2 dr Ara—fuar
B Sy a7 87

(1) IAIBq@emIC1®  (2) IBIO qorr B[

3) IAIOTATIBI®  (4) TAIB qor B[

fade ot UMfRT Ml e T sjEel
I ferenfud fear Smar 21

(1) 6 @i 3IR 3TcHT HH:

(2) 6 d 3R der, A

(3) 5at 3R ITHT HH:

(4) 5 d 3R dier,

U IN[E] H IR Hgth, AUR@Ed 3R ol
gl §sof U O 8

(1) fadiore= o<
(2) THEISTYA il
(3) fadiora=n a=r
(4) THAISIT T
B | et |1
(A) iGN (i) ECICIREEaN
EIRIMIBED . Sfferamd
B e W st faere
©) :;rw (iii) X'Ww_ﬁ_\,
(D) Wﬁ. : (iv) grgEr 21

(1) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(1)
(2) (A)-(iD), (B)-(1), (C)-(iii), (D)-(iv)
(3) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(i)
(4) (A)-(iD), (B)-(ii), (C)-(iii), (D)-(ii)
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123.

124.

125.

126.

127.

Choose the correct chronological order of given
below events

(i) Link Reaction

(i) Breakdown of Glucose into Pyruvic acid
(iii) Reduction of oxygen

(iv) TCA Cycle

(1) (@) - (i) - (iv) - (iii)

(2) () - (ii) - (iid) - (iv)

(3) (i) - (i) - (iv) - (iii)

@ (i) - (i) - (iii) - (iv)

Match the following columns
Karyotype Genetic disorder
(A) 44+ XXY 0Q) Klinefelter’s
Syndrome
(B) ... Down’s
44+ X0 (i) Syndrome
(C) 45+ XX OR (iii) Turner’s
45 + XY Syndrome

(1) (A)-(1), (B)-(i1), (O)-(iit)

(2) (A)-(i), (B)-(1), (C)-(1i1)

(3) (A)-(1), (B)-(ii1), (C)-(i1)

(4) (A)-(1), (B)-(111), (C)-(1)

The mean diameter of DNA double helix is
(1) 20 nm

(2) 20 A

(3) 34 A

(4) 34 nm

Choose the correct pair w. 1. t. duration of the cell
cycle

(1) E. coli - 20 min
(2) Yeast - 19 min
(3) Human cell = 90 min

(4) Interphase —More than 98% of total time of cell
cycle

In a dsDNA Adenine is 30%. Percentage of guanine
should be

(1) 10 (2) 20

(3) 30 (4) 40

123.

124.

125.

126.

127.

Al <1 T TR BT el BIelghiiD HH gy
(i) fof@ srfaforar

(i) UTSTfdd TRIS H TS@Iol BT Tl

(iii) STRITST BT U=

(iv) TCA =sh

(1) @) - (i) - (iv) - (iid)

(2) (1) - (i) - (iii) - (iv)

(3) (i) - (@) - (iv) - (iii)

4 (i) - (1) - (iid) - (iv)

e i &1 e o

BRACTZY SIGCINCECAN
(A) 44 + XXY (i) ﬁf. ﬂs X
(B) 44+ XO (i) <= RigW

(1) (A)-(1), (B)-(i1), (C)-(iii)
(2) (A)-(i), (B)-(1), (C)-(iii)
(3) (A)-(1), (B)-(iii), (C)-(ii)
(4 (A)-(i1), (B)-(ii), (C)-(1)

DNA S9d afetad &7 i a1 &7 &7
(1) 20 nm

(2) 20 A

(3) 34 A

(4) 34 nm

BIRMGT =h B A & TR Fel Sirel g

(1) & @lerig — 20 fase

(2) drR< — 19 MFe

(3) W=a BRI — 90 e

(4) SITRTIRJAT — BIRTHI Fh & Hol THI BT 98%

U% dsDNA ¥ TS 30% © | d7 1= &1 uferd
RIT BT A1fRY?
(1) 10
(3) 30

(2) 20
(4) 40
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128.

129.

130.

131.

Assertion: Food chains are usually small in nature.

Reason: A trophic level can occupy individuals of
a species only.

(1) Both are Incorrect
(2) Assertion is Correct, but Reason is Incorrect

(3) Both Assertion and Reason are Correct, and
Reason explains the Assertion correctly

(4) Both Assertion and Reason are Correct, but
Reason does not explain the Assertion correctly

Selaginella and Salvinia are

(1) Homosporous

(2) Heterosporous

(3) Homosporous & Heterosporous respectively
(4) Heterosporous & Homosporous respectively
Which is not correctly matched?

(1) DNA polymerase - DNA dependent DNA
synthesis

(2) Reverse transcriptase - RNA dependent DNA
synthesis

(3) Rho factor - Termination of translation
(4) Sigma factor - Initiation of transcription
The codons causing chain termination are
(1) UAA, UAG & UCA

(2) UAA, UGG & UGA

(3) UAC, UAG & UGA

(4) UAA, UAG & UGA

128.

129.

130.

131.

HYF: WM G AMAR IR YHid § BT BIll
gl

PR TH YU WR H dad Udh ol & e
UT¢ S % |

(1) SH1 TTerd &

(2) BIT L 8, AfbT HRUT T

(3) BIT AR HRU THEI e &, AR HRU FHH
B AL ARAT BT &

(4) B 3R BRI SH1 Fal &, oAb BRI HAT
P TE IRAT T8} BT &

HorTforTorr 3R Fifeafar & —

(1) FAITSTIH

2) ﬁWT:ITﬂ—CB

(3) P FHASIH 9 fauHdISos

(4) Ha: fAvHEsos 9 AHdISIS

71 5 9 B 91 |el gAford T8l 87

(1) DNA dUreffest — DNA %R DNA HZervor

(2) Rast giafbucs — RNA fik DNA Heeryor

(3) Rho ®R&b — AFdTed &I FHIC
(4) R PR® — UfdeEd o1 FaTd
Gl AN D 0 DI &

(1) UAA, UAG 3R UCA

(2) UAA, UGG 3R UGA

(3) UAC, UAG 3iR UGA

(4) UAA, UAG 3R UGA
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132.

133.

134.

Match the following columns
Column | Column 11
Site of Through the
(A) photolysis of (i) thylakoid
water membrane
Accumulation Inner surface of
(B) of K ions (ii) | thylakoid
membrane
. Outer surface of
Reduction of ... ;
© NADP* (iii) = thylakoid
membrane
Transport  of . Lumen of
(©) electrons (V) thylakoid

(1) (A)-(iii), (B)-(i1), (C)-(iv), (D)-(1)

(2) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)

(3) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(1)

4 (A)-(i), (B)-(ii1), (C)-(iv), (D)-(1)

Assertion: Endomembrane system includes- ER,
Golgi body, Lysosome and Vacuole.

Reason: They are functionally are interconnected.
(1) Both Assertion and Reason are false
(2) Assertion is true but Reason is false

(3) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(4) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

What is the correct order of wall layers from inner
to outside?

(1) Tapetum - Middle layers - Endothecium -
Epidermis

(2) Endothecium - Tapetum - Middle layers -

Epidermis

(3) Epidermis - Middle layers — Endothecium -
Tapetum

(4) Epidermis - Tapetum - Endothecium - Middle
layers

132.

133.

134.

Pie | i |1
S & gpreig AIATDISS
(A) 3fIEcH B () foreen & weEw
e Kl
. : AIATDISS
B) :m; TGy e &
CIRIECRNE
AIATDISS
NADP* G2 I
©)  aroerr (i) fSreel @1 arEd
g
© et W g v

(1) (A)-(iid), (B)-(ii), (C)-(iv), (D)-()

(2) (A)-(iid), (B)-(iv), (O)-(1), (D)-(ii)

(3) (A)-(i), (B)-(iv), (C)-(iii), (D)-()

(4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-()

Y TS Rived § el 8- R, Mt

diel, ersarH 3k Rihd |

SR J B M0 H 9 gV 2 |

(1) U AR BRI ST AT 8

(2) BT A § Afhd HRUT T ©

(3) BT R HRU EFI A & 3R BRI, HAF
P el ARAT Tl &

(4) BIF IR BRI I G 2 AR HRU FHAF
D TS TN B

fafca Ul &1 MARE | =R dd A8l HH a1 87

(1) ehied — 79 WRa — VSRR — ufusfis
(2) TSIIRRH — 2dled — 79 o_d — vfsfiy
(3) Tfefie — 7eg o_d — URIRIRRW — <dieH

(4) TsfiRg — <died — URIIR™H — #e wRd
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135. Gynoecium of Poppy (Papaver) is 135. iU (F97g9) &7 ST ©
(1) Bicarpellary and Syncarpous (1) fgarmedr 3R Hyadied!
(2) Pentacarpellary and Apocarpous (2) TRl 3R ﬁ'ﬁ’c{ﬂ'{@‘fﬁ
(3) Multicarpellary and Syncarpous (3) g@§§nggﬁ-3ﬁq BRCRISE
(4) Multicarpellary and Apocarpous (4) g3l 3R fargartiedt
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PART - IV : ZOOLOGY

136.

137.

138.

139.

140.

In frog gaseous exchange during hibernation and
aestivation take place through

(1) Buccal cavity (2) Lungs & Buccal cavity
(3) Skin (4) Lungs

Due to continental drift, pouched mammals of
Australia survived because of

(1) Only favourable environment

(2) They, had sharp claws & teeth

(3) Lack of competetion from any other mammals
(4) They have cledoic eggs

Statement (I): In chordates, the notochord is
present during the embryonic stage and in most of
them later replaced by vertebral column, which
provides structural support.

Statement (II): Hemichordata previously
classified under phylum chordata, lacks true
notochord, but possesess a stomochord, which is
functionally similar and aids in structural rigidity.

(1) Both statements are incorrect.

(2) Both statements are correct.

(3) Only statement I is correct.

(4) Only statement II is correct.

Presence of nictiating membrane is the character of
(1) Frog (2) Cockroach

(3) Only earthworm (4) Both (a) & (b)

Read the following statements and mark them true
or false.

I. Pineal gland is active only till puberty.

II. Adrenaline increases blood glucose
stimulating glycogenolysis.

by

II1. Bundle of His is a part of sympathetic nervous

system.
I'V. Insulin increases glucose uptake in muscle.
(1) I-T, II-T, LI-F, IV-F
(2) I-F, II-T, UI-F, IV-T
3) I-T, II-T, II-F, IV-T
(4) I-F, II-T, UI-T, IV-F

136.

137.

138.

139.

140.

Hew # Ma g ik ™ AT & SRM

fafrar grar 2

(1) 9% Te1 (2) BHs IR T &

(3) =T (4) BHS

TREN fJged & ®Ru, iRgforn & ursd

TR fhdd RO 99 70?

(1) S ATH AR

(2) 37, Jablel Ul TG Bfa o

(3) foe WY og wHaTRal & ufoRuert &1 o

(4) T Feleigd UL B &

YA (I): PlScH H, ACIDIS YUT JAAWRT & QR

AiS[g BT € 3R AHY § 915 H oD avS

R ufiRenfid fbar Sram &, S iR d FeR

TS BHxal € |

FHU (I1): SHIPISCl Bl Ugel BIgeTH discl & dgd

Tifiepd fdar wam o, SeH ar<fds Acare &t

JMIG o, ofbd Us HRAS ®©9 F GHM

IS BIT 8, ST ARAIHE detra H ARl

BT B |

(1) T BUF Td & |

(2) QM HAT FET B |

(3) P BUT 1 T B |

(4) DT BT 11 TET B |

frY® fBreet o1 SuRerfa e fagmar 87

(1) He® (2) fderarer

(3) ®ad AT (4) (a) 3R (b) HI

frfaRad oAl @1 dfey @ik I | a1 Tora

ferfed @17y |

. T U dad Aad a6 dfba Bdl 2

II. TS TAShIoHIIRTT &I URT b =h
BT DI ISTdT B |

I1. feST &1 dScl JGHUl Dl T3 DI T ¥
=

V. 3gfor URRIT # Tefist STa=iyoT &l 9 1T & |

(1) I-T, II-T, [II-E, IV-F

(2) I-F, II-T, III-F, IV-T

(3) I-T, II-T, I1I-F, IV-T

(4) I-F II-T, III-T, IV-F
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141

142.

143.

144.

145.

146.

In breathing the volume of exchanged air can be
estimated by

(1) Hygrometer

(2) Stethoscope

(3) Sphygmomanometer
(4) Spirometer

Chitin is polymer of

(1) o-Glucosamine

(2) B-Glucosamine

(3) N-acetylgalactosamine
(4) N-acetylglucosamine
Find out correct statement

(1) An increase in body fluid volume, stimulates
ADH release.

(2) Vasopressin is a powerful vasodilator.

(3) Increase in blood flow and volume in the heart
cause release of hormone ANF.

(4) All of the above

Cross bridge dissociate when

(1) AMP & Pi dissociated from myosin head

(2) Calcium pumped  back in
cisternae

(3) ADP & Pi detaches from myosin head and a
new ATP attaches with myosin head

sarcoplasmic

(4) Active site of actin got covered by Troponin

Assertion (A): a-1 Antitrypsin is used to treat
emphysema.

Reason (R): Rosie is a transgenic cow produced
human protein enriched milk.

(1) Both A & R true, R is correct explanation of A.

(2) Both A & R true, but R is not correct
explanation of A.

(3) Aistrue, but R is false.
(4) Both A & R are false.

A group which shows bilateral symmetry closed
circulation and metamerism 1is

(1) Annelida (2) Adult Echinodermata
(3) Plathyhelminthes(4) Arthropoda

141.

142.

143.

144.

145.

146.

A o H, fafFma g8 9y & Smgad @l 1A

ot 4 ST ST A ®

(1) reammd

(2) AR

(3) R

(4) TTSRHIER

Frsfed fHaar agad 27

(1) a—TePTamrE

(2) B—erpraTTET

(3) N—vRergeriielaeaH

(4) N—URICTgeiJdIRTHI-

el BT A1 BTG

(1) IR & TR ycrd HI 9737 H gfg, ADH Faur
B URT PRl B

(2) IR U TIRpemel difgdT fovdRe 2|

(3) 28 H ¥ & yars 3R A™ad ¥ gig gEE
ANF @ o @1 SROT 99t 2 |

(4) SR T

®ig 95T ¢edr &, o9

(1) AMP ©4 Pi AR 2 3 gedr 2

(2) DfTH BT ATDIATHS ST H ar9d gy
foar Srar 2

(3) ADP UG Pi "R MY 3 &7l & Sar @
IR TS A1 ATP wIRE I & A1 S
ST &

(4) WfdesT &1 Afha % U §RT &6 Sl &

U (A): AP D TSl B 10 -1 TAfSfoaq

BT SUIRT fbar SiTem B |

PRI (R): ISl U URSIH /SRIoilfd T & S

Joa AT H YIS gad i Searfed del 2|

(1) A 3R R S 9T &, R, A &1 Hel WG
gl

(2) A 3R R s 9 €, offd R, A & &I
TIETHR] TET B |

(3) A 9 g, oifhd R 31T 2 |

(4) A 3R R THI 39 % |

g HHE I AT 8 S fguredia FAfAfy &1 gwar

g, 95 URIERI R HHRSH Jad 57

(1) vferst (2) TS SHIZATSHE

(3) widiefea=ilsT  (4) smufureT
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147.

148.

149.

150.

In which method of contraception, progestogens
can not be used

(1) Emergency contraception
(2) Oral contraception

(3) IUD

(4) Barrier method for females

Which of the following pair of animals have non-
glandular and scaly skin

(1) Snake & Frog

(2) Chameleon & Turtle
(3) Frog & Pigeon

(4) Crocodile & Elephant

Match the following columns.

Column I Column II

A. Typhoid I.  Widal test

B. Malignant 1. Plasmodium falciparum
malaria

C. Common cold  III. Rhino-virus

D. Trichophyton  IV. Ringworm

(1) A-1, B-1I, C-1IL, D-IV

(2) A-1V, B-I11, C-II, D-I

(3) A-1V, B-II, C-III, D-I

(4) A-1, B-1I1, C-II, D-IV

Read the following statement and mark them true
or false.

I. The hormone inhibin is produced by sertoli
cells of testes and stimulates secretion of FSH.

II. Morula stage of development occur after the
blastocyst stage.

II1. Process of adaptive radiation occurs when a
single species colonizes a new area and
diverges into multiple species.

IV. Homologus structures are those that have a
common function but different origin.

(1) I-F, II-F, III-T, IV-F
(2) I-F, II-F, I1I-T, IV-T
(3) I-F, II-T, III-T, IV-F
(4) I-T, II-F, III-T, IV-F

147.

148.

149.

150.

TIfeRITS B fha fafd & goReio=a &1 Su
&t foar S Ahdr @

(1) 3MUTAHTAE THRIES

(4)Hf%waﬁzﬁf%mérﬁmﬁm
THfeRad § @ WtRl @ fd s @ @
forel 9 Trediy BN B

(1) |19 3R Hew
(2) fRMAIE 3R P83
(3) ¥Hed 3R BT
(4) TRATS R BN
died 1 e 11
A. TEHIES wax. 1. fasTer uxefor
B. O® FaRAT 1. IoHfSTd BIoviiuvd
C. Mg Fei— 1L g—draRyg
JH™
D. gisdieigeT 1V, Q&

(1) A-L B-II, C-III, D-IV

(2) A-1V, B-I11, C-II, D-I

(3) A-1V, B-IL, C-III, D-I

(4) A-L, B-III, C-II, D-IV

frferRad o @I Ue IR S WEl AT Terd

fafed & |

I. SS9 EHIA guu & Helell PIRTBRI gRI
fffe BT ® 3R FSH & 91d BT ST drdl
=l

II. Ao 3T &1 fAh, IRTIRRT 37a=e &
91 8IaT 2|

11, 3rden fafezor & wfthar 99 g 8 99 t&
el TSIl Qeb I8 &3 H Ugd B by TSl
T 3OAROT HRT B |

V. SFHESIT G d & S79h SR a1 8 offd
Sy e 2

(1) I-F, II-F, III-T, IV-F

(2) I-F, II-F, III-T, IV-T

(3) I-F, II-T, III-T, IV-F

(4) 1I-T, II-F, III-T, IV-F
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151

152.

153.

154.

155.

156.

157.

. What is correct about Pleurobrachia
(1) It shows bilateral symmetry
(2) It contains special cnidoblast
(3) It shows bioluminiscence
(4) It has only cellular grade of organisation

The Australian marsupial numbat show convergent
evolution with which placental mammal

(1) Mouse (2) Lemur
(3) Anteater (4) Bobcat
Spleenis a -

(1) Large bean shaped organ

(2) Act as filter of blood

(3) Both (1) & (2) are correct

(4) Primary lymphoid organ

Assertion (A): HIV is not a retrovirous.

Reason (R): It has two molecules of dsDNA as
genetic material.

(1) Both A & R true, R is correct explanation of A.

(2) Both A & R true, but R is not correct
explanation of A.

(3) Ais true, but R is false.
(4) Both A & R are false.

What will be the cardiac output of a person if his
heart rate is 100 beats/min and stroke volume is 85
ml.

(1) 8900 ml. (2) 9000 ml.

(3) 8500 ml (4) 8000 ml.

Which is/are true for adrenal gland -

(1) Ecto-mesodermal in origin

(2) Also called 4's' gland

(3) Secretes life saving hormone

(4) All are correct

Select incorrect w.r.t., implantation

(1) It happens at the blastocyst stage of embryo

(2) Trophoblast cells make a contact with the
endometrium

(3) Important for providing nourishment to the
growing embryo
(4) Implantation occurs in 4-8 celled stage only

151

152.

153.

154.

155.

156.

157.

. GRFT B AR H 9T FE 2

(1) I8 fguredta wafafe fowmar 2

(2) 39 a9y AIgSIeRe B &

(3) IE SRl e 2

(4) $HH DAt FIST BT PR wWR

ieforars Agfie Iwie fhd oTRT W-Rl &

[rer AR fAdTT e @

(1) =&t (2) R

(3) AErER (4) dfqdbe

AT BT B —

(1) 9T 99 & IS & MHR BT 3T

(2) Yo & fheex BT BRI HRT &

(3) 3FI (1) T (2) &I & |

(4) wAfPd RAIBT 3T § |

FUF (A): HIV U Reifdum =& = |

PRI (R): 34 SMJARTH el & w4 H dsDNA

& ST 377 BId 2 |

(1) A 3R R SFI 9 &, R, A & &I WLIHIU
2l

(2) A 3R R T 9 €, oifd R, A & &I
TIETHRUT &I ¢ |

(3) A 9 8, oifhd R 39T 2 |

(4) A 3R R T 3/IT & |

s fth BT BllsTD ATSCYe T BRI A D

gad I 100 died /e 8 iR wid maa+ 85

il 87

(1) 8900 fAet | (2) 9000 e |

(3) 8500 e | (4) 8000 el |

Vs U & ol B 9 B /B

(1) STRT vae—Harehd Bl &

() 4's' Uy ) e B

(3) Siia e M HIfdd 81 &

(4) 9 981 ®

IRV & A9 # TTaid BT T N

(1) I8 YU & RTINS aROT H BT &

(2) TBIIRE BIRMGN YSHigTH & W1 G
ERIGI

(3) F&d YOI BT Ul Yae dR b oy weeayol
g

(4) 3RV Hadl 4—8 PHIABT YAl H Bl &
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158.

159.

160.

161.

162.

How many disulphide bonds are present in between
heavy and light chains of a one antibody molecule

(1) Two (2) Four
(3) One (4) Three
Statement (I): The primary function of PCT is to
actively secrete urea & creatine while completely

preventing reabsorption of water and essential
solutes.

Statement (II): Human kidney is 10-12 mm long.
(1) Both statements are incorrect.

(2) Both statements are correct.

(3) Only statement I is correct.

(4) Only statement II is correct.

Read the following statement and mark them true
or false.

I. The plasmid pBR322 is a cloning vector only
used in plants.

II. The process of introducing a desired trait into a
crop plant is called embryo rescue.

III. The bacterium Bacillus thuringiensis produces

a toxin that kills certain insects.

The process of creating a genetically indentical
copy of an organism is called spooling.

(1) I-T, H-F, II-T, IV-F

(2) I-T, II-T, II-F, IV-F

(3) I-F-II-T-1II-F, IV-T

(4) I-F, II-F, HI-T, IV-F

Choose incorrect statement Ww.r.t excretion in
human

Iv.

(1) Nearly 99% glomerular filterate is reabsorbed
by renal tubule.

(2) Descending limb of loop of Henle is
impermeable to water.

(3) DCT is capable of reabsorbing sodium.

(4) Ascending limb of loop of Henle is permeable
to electrolytes.

Choose odd one w.r.t secretion of pars distalis
(1) Melanocyte stimulating hormone

(2) Follicle stimulating hormone

(3) Thyroid stimulating hormone

(4) Adrenocorticotropic hormone

158.

159.

160.

161.

162.

fha™ STsvehIss du Alg &I 8

(1) < (2) IR

(3) P (4)

ST (I): PCT &1 TS BRI Aisha ©U | IRAT

R foufed &1 9@ o=A1 8, wEfd o SR

AL el & Y: ATLNYOT DI Q¥I RS AbAT

2 |

Y (I): 9199 JaF 10-12 mm =T BIT 2 |

(1) S BUF Tad € |

(2) T BUF TE B |

(3) BT BAT 1 T 2 |

(4) BT BUT 11 LT 2|

fafaRed dod & u¢ iR S | AT Tord

ferfet o |

[. foHs pBR322 dadt Uil # SUANT fhar o=
T Y Felf=T Jaex 2 |

Il. s BA UIg H e qifeset 0T bl FHG B
& Ufhar BT YOI FATT HET ST 2 |

1L SHaTe] 777 YIRIoTo/~rer U fay Ieasl Rl
2 Sl HB DICl DI AR 2 |

V. {6l Sfig @7 gl wu 3 A gfdfaf
M B FfshaT B el FHET ST © |

(1) I-T, II-F, II-T, IV-F

(2) I-T, II-T, 11I-F, IV-F

(3) I-F-II-T-1II-E, IV-T

(4) I-F, II-F, I1I-T, IV-F

g H Scdod @ 96 H Tod $AF BT adT

DITY

(1) ST 99% TAHBR BITF ®I Jadb Afeld
ERT Y: ey foar S 2 |

(2) &7l & U B JARE o T b forg
3TARITRT & |

(3) DCT WIfeTH &I Y: raenfyd o<t # |erd 2 |

(4) BTl B o[U DI IRIE! T FeldEIegesd B fory
TR |

e feweferd & ardl H ¥ faww g

(1) feAEe RS M

(2) Yc&b RS BAM

(3) URRISE WRP EMIA

(4) TsHIBIEHICUSG BHM
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163.

164.

165.

166.

Match column-I with column-II.
Column-I Column-II

A. Bronchioles I. Dense regular connective

tissue
B. Goblet cells II. Loose connective tissue
C. Tendons III. Glandular tissue
D. Adipose tissue IV. Ciliated epithelium
(1) A-1, B-II, C-IIL, D-IV
(2) A-I1, B-II, C-III, D-111
(3) A-II1, B-1V, C-11, D-1
(4) A-1V, B-IL, C-1, D-II
Statement (I): Posterior pituitary does not
synthesize hormone but stores and release hormone
synthesize by hypothalamus.

Statement (II): Deficiency of ADH leads to
diabetes mellitus, characterized by excessive
glucose excretion in urine and constant hunger.

(1) Both statements are incorrect.
(2) Both statements are correct.
(3) Only statement [ is correct.
(4) Only statement II is correct.

A neuron in polarised state has membrane potential
which is also called the -

(1) Action potential

(2) Resting potential

(3) Conducting potential
(4) Threshold potential

Read the following statements and mark them true

or false.

I. The fungus Penicillium is used in production of
cheese.

1. Fungus Trichoderma is used as a biocontrol
agent against plant pathogen.

III. Disease caused by deficiency of insulin is

called myxoedema.

IV. Vaccination provides active immunity against

infectious diseases.

(1) I-T, II-F, III-F, IV-T

(2) I-F, II-T, III-T, IV-F

(3) I-T, II-T, HI-F, IV-T

(4) I-T, II-F, III-T, IV-F

163.

164.

165.

166.

BicT—1 BT BictH—11 A FGATAT BINTT |

CASLE| LA |

A. Fidleied I == fafg gach sde
B. Tifeic ®If¥AT 1. el FAS SHdd

C. <A IIL. 9f3 & SHad

D. 991 dd IV. 9eA™T Iudhe

(1) A-1, B-II, C-III, D-IV
(2) A-IIL, B-II, C-III, D-III
(3) A-IIL, B-1V, C-II, D-I
(4) A-1V, B-III, C-I, D-II

T (I): 929 fUeied) A M Bl Feelldd T8l

HRAT 8, b SIS g§RT AYlfid 8 &l

Hferd 8k gad wel 2 |

$HE (II): ADH &1 $Hl ¥ S Aamrifed

BT 8, Of T H I[Afd Tediel Scdoi 3R

IR & T & efoT SofaT 2|

(1) T HUF Teid & |

(2) T BUT T B

(3) B HUT 1 T B

(4) DT BT 11 T B

YA SRSy dTel U IR H freetl favg grem

S g8 W FEl SIrer 8 —

(1) VT TrefRerd

(2) R aeREe

(3) dsfdeT UcRia

(4) <gell favrg

frferRaa weel @1 afey ik 3= W& a1 Tora

ferfed S|

. 9% FFReryg & TR & SATed H YA
fpam ST 2 |

1. % grgH/SH Bl el IMTST-d & RIATh oig
foRI=IoT Tofe @& U # W fhar Siar R

1. S &I B A BT drel 0T BT HadrsHT
BHET STl 2 |

V. EIBTHROT FhHd I & Raas afshar ufaRen
& BT ¢ |

(1) I-T, II-F, 1I-F, IV-T

(2) I-F, II-T, 1II-T, IV-F

(3) I-T, II-T, I1I-F, IV-T

4) I-T, II-F, 1II-T, IV-F
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167.

168.

169.

170.

171.

Statement (I): Each sarcomere has central A-band
made of thick myosin filaments.

Statement (II): Two half [-bands made of thin
actin filaments lies on either side of A-band are also
included in the sarcomere.

(1) Both statements are incorrect.
(2) Both statements are correct.
(3) Only statement I is correct.
(4) Only statement II is correct.

What is the direct effect of Renin-Angiotensin
Aldosterone System (RAAS).

(1) Decrease the blood pressure

(2) Increase the respiratory rate

(3) Increase the blood pressure

(4) Decrease the heart rate

The second heart sound can be heard when
(1) Atrio-ventricular valve open

(2) Semi-lunar valve open

(3) Atrio-ventricular valve close

(4) Semi-lunar valve close

Milk can be temporarily stored in which part of
mammary gland

(1) Mammary duct

(2) Central cavity of mammary alveoli
(3) Lactiferous duct

(4) Areola

Match column-I with column-II.

Column-I Column-II

A. Biogas L. Microbial

biocontrol agent

B. Organic waste | II. | Antibiotic
treatment source

C. Bacillus III. | Biological
thuringiensis oxygen demand

D. Pencillium IV. | Methano
notatum bacterium

(1) A-1V, B-IIL, C-1, D-II
(2) A-1V, B, C-111, D-II
(3) A-1, B-III, C-1V, D-II
(4) A-1V, B-1I, C-1, D-III

167.

168.

169.

170.

171.

F9 (I YIS AHHERR § HIST  HAR—NA
fheed & 997 S A—d< BT 2|

U (II): A—d8 & THI 3R Udel Yfde fharica
I g9 T Y [—ds | ArhHIR H Ifiet g 2|

(1) S BUF Tad € |

(2) Sl BUT TE 2 |

(3) ®ad BT [ &I B |

(4) DI BAT 11 LT 2 |
FA-UREAICRT TesReld RIeA (RAAS) &1
T UHTa T ¢ |

(1) THAY HHF HRAT

(2) Ta8T R H gig PR

(3) g H gl B

(4) B3I T HH HIAT

fadia gs9 wf @ g0 o wadh § 59
(1) vfga—dfgger ared gaar ©

(2) AI—TSTHR dIcd Goldl &

(3) ufga—dfgqeR darea § BT ©

(4) SE—TSTHR dTed §§ BIAT B

T IR FU W WA U & by TR H FUga
BT &—
(1) == arfe=r
(2) X9 Ufeaiell & HE1A &
(3) <ifdem= arfas
(4) TR
BT DI DicH—11 F FAfeTd B |
PcH—1 PicH—I1
A. | IR I. | Arsshifaad
CIRICTAC IS
B. | 9ifd®w smfdre | 11 | ¢amaifes
SUAR EEIS]
C. | #frerey M. | Sifdw effRie
RISTo~TeT P T
D. | 9ircrieras V. | AT Siaro
TIeeH

(1) A-1V, B-1II, C-1, D-II
(2) A-1V, B-1, C-II1, D-II
(3) A-1, B-II, C-1V, D-II
(4) A-1V, B-1I, C-1, D-III
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172.

173.

174.

175.

176.

Neanderthal man lived -

(1) 1,00,000 - 40,000 year back

(2) 75,00,000 - 18,00,000 year back

(3) 1.5 mya

(4) 15mya

Read following statement and choose correct
option.

Assertion (A): Restriction endonuclease are also
known as molecular scissors.

Reason (R): Restriction endonuclease used to cut
DNA at specific site.

(1) Both A & R true, R is correct explanation of A.

(2) Both A & R true, but R is not correct
explanation of A.

(3) Ais true, but R is false.
(4) Both A & R are false.

Which of the following is hallucinogenic drug

(1) Heroin (2) Marijuana

(3) Alcohol (4) Cafteine

Assertion (A): Fertility is defined as ability to
conceive even after protected coitus.

Reason (R): Fertility is retained only upto age 60
in human males.

(1) Both A & R true, R is correct explanation of A.

(2) Both A & R true, but R is not correct
explanation of A.

(3) Adis true, but R is false.
(4) Both'A & R are false.

Statement (I): Each coxal bone in man is formed
by fusion of three bones namely ilium, ischium &
pubis.

Statement (II): At point of fusion of above listed
bones a pit called glenoid cavity present, with
which thigh bone articulate.

(1) Both statements are incorrect.
(2) Both statements are correct.
(3) Only statement I is correct.
(4) Only statement II is correct.

172.

173.

174.

175.

176.

feRerd AME Ed 99—

(1) 1,00,000 - 40,000 a9 gg

(2) 75,00,000 - 18,00,000 a¥ Y&

(3) 1.5 fafor av gg

(4) 15 faferas a¥ gd

ferferRaa wee @1 ufeu 3iR W&l fadeu &1 o+

BT |

DU (A): e USfdAUST Bl Mvifad bl

& ®Y # A ST ST 2

PRI (R): UEeA USIRIfdast &1 IuanT fafiee

T TR SITAY BT Blew & v fhar Sirem 2|

(1) A 3R R TFI 9 8, R, A BT H&I WLIHI
2l

(2) A 3R R Al 9 &, ofdd R, A &1 HaI
TIEIHROT &I B |

(3) A 9 &, oIfhd R 9T 2 |

(4) A R R & eIy € |

f=falad & & @9 A fayae gar 27

(1) &0 (2) S

(3) ¥R 4) DB

DI (A): IS99 & DI GRS FEI™ & 91

AT T YRUT B BI &HAT & wU H GRAMYT foar

T €|

PR (R): 719G YUl H U &7 dHael 60 a9

B Y TH NI &l 2 |

(1) A 3R R SFI 9 &, R, A BT H&! TWLIHIU
2l

(2) A 3R R SHI 9 &, ofdd R, A &1 Hal
TIEHRT &I B |

(3) A 9 g, ofhd R 19T 2 |

(4) A 3R R S 3/I & |

HY (I): 999 DI ISP bidde TR 9 gl

@ Aedd | 99T 8, ol 2— gforw, sReww iR

e |

B (I1): SUYH I[Edg AR B Fergd & fig

W ToHigS &1 e Tdh Td e B g

fSTeres arer S a1 arRer i dxell 7 |

(1) S BUF Tad € |

(2) T BUF TE B |

(3) ®ad B [ &I B |

(4) B HAT 11 T B |
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177.

178.

179.

180.

Which part of brain plays a crucial role in
regulating body temperature, hunger and thirst.

(1) Cerebellum (2) Thalamus
(3) Medulla (4) Hypothalamus

On an average, female cockroach produce how
many oothecae?

(1) 2500 - 3000 (2) 100 - 150

(3) 14-16 4) 9-10

Which type of bond is responsible for the secondary
structure of proteins and is formed between

carbonyl oxygen of one amino acid and amide
hydrogen of another.

(1) Hydrogen bond (2) Peptide bond

(3) Disulphide bond (4) Ionic bond

Which of the following types of epithelial tissues is
capable of withstanding friction and stress and is
found in skin and lining of mouth oesophagus and
vagina.

(1) Simple squamous epithelium

(2) Simple cuboidal epithelium

(3) Compound squamous epithelium

(4) Simple glandular epithelium

177.

178.

179.

180.

ARTSH BT DI AT [ZRAT TR & 9, & AR
e B 3T o § Agcaget e T 2 |
(1) gaRash (2) e

(3) Al (4) U

U AT DIhRrd ATAd fhae USYIR AT HeThT
I BT 27

(1) 2500-3000  (2) 100 - 150

(3) 14-16 4) 9-10

e IR &1 989 AIcH @ fgdias ave @ forg
ReR BT & iR U oriHl TR & wraifaa
NI 3R TR & UATSS BRIl & drd gedT
2 |

(1) BIEQISH 3M6e (2) UelEs dive

(3) SIZHHISS T (4) D dg

frferRad # & fd UBR BT UG Had gy
3R Q91 BT FeT HX- H W § SR e 3R
39, TRIT iR A & SRR # uram S 7|
(1) X Iedl SUDBe

(2) IR TAIPR SUBal

(3) Sl Iedhl YD

(4) R AT SuHAT
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V"3 (D) NARAYANA | JAPUR

BRI R (N nT-JEE/NEET/FOUNDATION | CENTER

NARAYANA JAIPUR STUDENTS DOMINATE IN 2025

Join the Proven System of NARAYANA JAIPUR CENTER for
JEE (Main+Adv) | NEET | Foundation

Powered with Top Level Mentorship & Genius Faculties

Narayana Jaipur STARS OF 2025 So Far (..many More Coming)

JEE (Main) 2025 session-| 2 International Olympiad (St-11) 2025

CTY TOPPER  2nd CITY TOPPER

JAIPUR JAIPUR
&RAJL STATE TOPPER

100 99.99

Percentile Percentile

Selections for Stage-3
Orientation Cum
Selection Camp (OCSC)

Indian National Olympiad (INO) 2025 Qualified

As per result declared by HBCSE & Nehru Science Center, NCSM on 05-03-2025

Selected T3

GOLD MEDAL for India
in IJSO'2024 Selected

in INDIA'S

Selected
in INDIAs
International Junior Science Olympiad-2024,
Held at Bucharest ROMANIA (2 to 12-Dec., 2024)

BHAVYAA GUNWAL

Yearlong Classroom Student (CO-SPARK Batch)

AYUSH SINGHAL
MPS

Regular Classroom

Srilal Convent Jayshree Periwal G.S. Cambridge Court
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Further AlRs in Top 1000 : 116 (Prabuddha Sinha), 149 (Visharad Srivastava), 161(Mayukh Chowdhury), Further AlRs in Top 1000 : 181(Atishay Jain), 316 (Krish Jain), 340 (Somya Garg),
168 (Abubakar Siddique), 303 (Shrey Nayakpara), 318 (Srutarshi Tripathi), 339 (Yash Vashisht), 354 (Aradhana R), 350 (Dhruv Awasthy), 380 (Akshat Mishra), 562 (Ashvin Sharma), 606 (Purvika Singh),
360 (Kathan Shah), 375 (Pratham Srivastava), 384 (Tushar), 448 (Vivaan Goswami), 543 (Shaurya Pratap), j 616 (Shreya Jain), 666 (Surya Charan D), 681(Tanmay Singhal), 786 (Amogh), 966 (Chhavi Jain)
569 (Akshat Khandelwal), 591 (Shourya Agarwal), 809 (Sagarika Sinha), 881 (Ishwin Kumar), 973 (Muthu S)  «. (A|| Scored 700+)

N
(* All these are Narayana Jaipur Center’s InfinlITy SRG batch students Q (* All these are Narayana Jaipur Center’s Regular Classroom students of RT-720 Course
who attended online night classes by top faculties to boost rank in JEE (Adv) 2024) (Nov'23 to May’24) for NEET 2024)

This very first student group result has proven the power of Top Level Mentorship, Genius Faculties and Excellent System at Narayana Jaipur Center

For any enquiry or assistance, call 0141-4848000

€ www.narayanajaipur.com &} ntsc.narayanatalent.com (XX jaipur@narayanagroup.com SUNDAY OPEN




BATCH STARTING DATES

Moving to Class 6,7,8,9& 10
Starting: 02 & 09-Apr, 2025

Moving to Class 11" (JEE/NEET)
Starting: 26-Mar & 02-Apr, 2025

Moving to Class 12" (JEE/NEET)
Starting: 19-Mar, 2025

Appeared-in/Passed Class 12 (NEET)

Starting: 09 & 16-Apr, 2025
120t Ut f&<t aream NEET s geres o=t 11-Jun@

Appeared-in/Passed Class 12 (JEE)
Starting: 23-Apr & 07-May, 2025
* Separate Batches for JEE & NEET as per New Education Policy (NEP)



